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1.  Choose the correct punctuation mark for the sentence.

“Have you seen my school bag”

(A) B © & (D)

2. Which single word would mean the same as underlined portion of “The vaccine made the

person resistant to infection from Covid-19 Virus”.

(A) Immune (B) Healthy (C) Doctor (D) Medicine
3.  Identify the appropriate collective noun for bees.
(A) herd (B) swarm (C) group (D) bunch

4.  What does “hang up the boots” mean ?
(A) Place the boots for cleaning (B) Kill someone by hanging

(C) Retire from active life (D) Peace after a war

5.  Which word is the antonym of “Arrival” ?
(A) Conquer (B) Enemy (C) Departure (D) Welcome

6.  Fill in the blank :
Yasmin on paying the bill for her whole group.
(A) requested (B) promised (C) suggested (D) insisted

7. Which is the correct spelling for an annual day-date list ?
(A) Calandar (B) Calendar (C) Callendar (D) Calender

8.  Which word in the following list is a Verb ?
(A) Run (B) Black (C) Faster (D) Human

9.  Identify the synonym of “Accurate”.
(A) Total (B) Pedigree (C) Sincere (D) Correct

10. Identify the preposition in :
The man is sleeping on a cot.

(A) on (B) man C) is (D) the
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11. Which of the following districts of Assam is in the Barak Valley ?

(A) Hailakandi (B) South Salmara-Mankachar
(C) Chirang (D) Morigaon
11. Fxfie @R T @ Toiee Sk ?
(A) T (B) W *[TSE - TR
(C) oA (D) wfRReife
11. 053 @ @@ SPeE IAF ST ST 2
(A) T (B) W *{[TIR - WTFRT
(C) foan (D) wfHaite
11.  STEMH o6 S st Swse ?
(A) BETHRIS (B) QT HITHII-HTThTSR
(C) f=i (D) wfaTE
11.  318H o frfafed § | sE-w1 e s =@t § 872
(A) TamRIE! (B) S0 HEHNI- A=
(C) faum (D) HHmE
12.  Which of the following sea passages connects Asia with Europe ?
(A) Suez Canal (B) English Channel
(C) Panama Canal (D) Strait of Malacca
12. fsfe @EG At @fis TBEPR Cre (@i I 2
(A) pES Qe (B) &[G e
(C) WIS A& (D) SRl @elleTt
12, TI6A (I Tmol @f¥iEl @ TSEIAE G FCACE 2
(A) e e (B) Efoml BilCeTat
(C) =l e (D) eI lellet
12.  TRMEM &6 o1l AR TEa T 30e! S ?
(A) S SR (B) sferr Samm
(C) I SR (D) IR BT-GSTTl
12. frfafed § 9 &9 @ 9 At ofern o 9209 9 sed # 2
(A) W TR (B) e TR
(€) YA A= (D) WISl SICTSHEHE

Paper-1 | F 7 P.T.O.



13.  Which kingdom of India had influence extended to Southeast Asian region ?

(A) Chauhan (B) Rajput (€) Gupta (D) Chola
13. SRS (@I AFICHS R nfrel-o17 afez sixesics] Rge Cafes 2

(A) RN (B) IE© C) v (D) &=
13. W97 SI60e SR0eA (FiF ISR 2OR TS 2l 2

(A) R (B) srE© € o< (D) 1S
13.  YRAfT o9 TFSIEl QHTe- SIS T SAEedy MM ERaell 8@ el S 2

(A) IRH (B) TSI (©) T (D) =
13. ¥Rd & | T &1 gvra faor-qd ufeE & aek o ?

(A) IReH (B) TSI (© T (D) e
14. The Upper House of the Parliament of India is called :

(A) Lok Sabha (B) Rajya Sabha (C) Vidhan Sabha (D) Vidhan Parishad
14. AV T WS (I T ¢

(A) @ISl (B) SrepTel (C) R el (D) R sifsam
14. SRCSF AR CHFHCF I T ¢

(A) RSl (B) IleEpTel (C) R el (D) R sifim
14. YRAM HESH TSl TET@! A G771 SR 2

(A) A'®R' GHl (B) TSI @ (C) foum w (D) faum 9w
14. TS &% S TS ] gl ST © ¢

(A) ok g9 (B) T |l (C) faum g (D) faum aftug
15. Ali Aye Ligang is a festival of which community ?

(A) Khamti (B) Mishing (C) Karbi (D) Dimasa
15.  SIIfe] SIS Bl (PN 2R BT 2

(A) wfe (B) =g ©) = (D) T
15. SIS SCF ool (i TeMIcEs SO 2

(A) A (B) fafor ) =R (D) e
15. o7t 31 femieT =i BIikfq wRel ?

(A) @mfa (B) fufd (C) ifdl (D) femmm
15. 3felt T fermin fore Tqem™ o1 Ser § 2

(A) @it (B) fufdm (C) el (D) femmm
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16. Which of the following rulers had ascended the throne at Delhi ?
(A) Chand Bibi (B) Rani Ahilya Bai (C) Rezia Sultana (D) Rani Laxmi Bai

16. WERR® @RS P TR Fiegwee i@ SRl 2

(A) W &R (B) [T Sitzew A% (C) (@fe™l peveRl (D) [T FEHI Al
16. FCRa (@9 =P e PikahiE i FEieEr 2

(A) B RE (B) M e=Ewm A% (C) S Ewei (D) AT TR Al
16. TRMEM o6& WA feeefit TS 3 'SHM ?

(A) =m< fafs (B) Ut aAfgeen=me (C) Xform gear (D) o1 @&l =18

16. fAfafed § & oF 1 o feoeh ot TE W dST o912
(A) g St (B) Tt fgem s (C) X gearn (D) T At =g

17. Kurseong is a hill station in the state of :
(A) Sikkim (B) Arunachal Pradesh
(C) West Bengal (D) Nagaland

17. W I A7 G A g ¢

(A) Pfew (B)  SIeIIbST 20l
(C) AT (D) ¥aliceTe
17. FER “=fE 2A @W qite 2
(A) Bifew (B) SIEONBE AT
(C) Ao (D) siEle
17. FfEdien TSI Bl W8 |
(A) fafsrm (B) oTEUTEA YW
(C) IFE T (D) AFTRI<
17. HiET 389 T & T fea ©IA T
(A) fafewn (B) STEUTEA TR
(C) Ui s (D) TTMRiE
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18. Who was the first Vice Chancellor of Gauhati University ?

(A) Nabin Chandra Bordoloi (B) Gopinath Bordoloi

(C) Kamalakanta Bhattacharyya (D) Krishnakanta Handique
18. @QIRIG! fRefRmiieTas eI BB (Fi @i 2

(A) = 5F IS (B)  CaNsTiiel qqmest

(C) IR G (D) I ACS
18. (TR RefmieTes g2 TG (F e 2

(A) 9w IS (B)  CaNsTiiel qqweat

(C) ITARRE SHHIR (D) JFRFIT AT
18. AR qEeiana fifafe et fifaan 9rem ?

(A) Al == & (B) TSN S

(C) AT W= (D) FORRN Bf<h
18. TETRrR! favafaere™ & g Herafd &iF & 2

(A) T =g RGNS (B)  Tirdirer SiREIeAE

(C) FHAH g (D) Fwieid gfesh
19. McMahon line separates which two countries ?

(A) Afghanistan and Pakistan (B) Myanmar and Bangladesh

(C) India and China (D) Vietnam and Thailand
19.  CREIIE AN (I 72 (R 7)2F IS 2

(A)  SFAAEZR o= 2NRFg (B)  SUIISIS fI<e QIEAICHI

(C) ©F == 5N (D) SO = BT
19. SRS AR N G0 (T SNeTvI SRR 2

(A) SIS GR] 2NREE (B) SRS @32 A

(C) ©F® R bW (D) formea @38 Azie
19. UshHe THHR o BreIhia! srEml ?

(A)  SAHTE TR A& (B) TIHUR 3R] dcAle®

(C) ¥RA 3T == (D) FR—II™ I UEes
19. HehATEH 1@l foht ST <9l shi AT Ll @ 2

(A) AHMEN IR uiferear (B) IR 3R ey

(C) ¥Rd SR = (D) foadTm iR ereis
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20. Which mountain range passes through Delhi, Haryana, Rajasthan and Gujarat ?

(A) Shivalik range (B) Borail range

(C) Satpura range (D) Aravalli range
20. (PRCH! ~AOleTl e, QREI, g S YRt ACSCI S 2 TR 2

(A) TRifes oo (B) =i woulal

(C) A7 Rl (D) SIRRET! “oxEl
20. (I oiFoca fim, e, qerEie @9 STRIcea W e (Al ¢

(A) TRIfe sifor=dt (B) Tz sRferT

(C) o7l = (D) SIRRE! ARfor=at
20. TR BEE 9« BT A feeett, SR, TS ST TSRS aRaAiS | ?

(A) Frerfass g |l (B)  SIIEe BISIAT |

(C) HEqU BSIH | (D) AR BTSHT |1l
20. HE-H g S@er foeet, gRamn, TS SR TR | S TeRdl © 2

(A) Tererfee weiaamen (B) Sial qeiqHTet

(C) HaYST JeidHre (D) SRIEl GeaHTel
21. Which of the following is the Capital City of Chhattisgarh ?

(A) Raipur (B) Ranchi (C) Bhagalpur (D) Dehradun
21. TIRREIRS A2 (S Hewes el 52 2

(A) T (B) Ml (©) P (D) (AT
21. +IHA (G SEHISITT AN =2 ?

(A) SRR (B) =i (©) SPETE (D) Ol
21. TR B T SARETSH Tt ?

(A) I (B) WA= (©) WTR (D) <R
21. Tr=fafed § @ ®F-91 S<EE 1 TSu € 2

(A) TR (B) T (C) TR (D) &
22. How many countries does India share land borders with ?

(A) Six (B) Seven (C) Eight (D) Nine
22, ORI (BRI (I T A “{%( (A 2

(8) = (B) TS (©) = (D) 7
22, FOH (T AT SIS Te A G AR ?

(A) = (B) e (©) =i (D)
22. R A &St gIeTe fqHT et ?

(A) #WHT (B) @& (C) HH A (D) ®WHT
22. R oA SR1 o T T ST S A § 2

(a) =e (B) ¥ (© o (D) A
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23. Identify the southernmost river amongst the following :

(A) Indus River (B) Godavari River

(C) Brahmaputra River (D) Cauvery River
23.  RERS TR #9 ABRSF 7S SHZS a2 e T |

(A) Prpaal (B)  (aNWRST Al

(C) =@ Ml (D) PICEST ™l
23. TR Sralewm s @G TR wiEe s 9l 2

(A) Ty a7 (B)  (NWRST Tl

(C) F=m@ ! (D)  plcai it
23.  FAME! WIRITETIR S S e -

(A) Ty e (B) T g

(C) SIgs A (D) e S
23. Trefafad § | a9 ol 7€t it e Hi |

(A) fHy = (B) Tirererdt e

(C) F&g T (D) FRG &
24. Which of the following Muslim commanders did Mula Gabharu fight with ?

(A) Mir Quasim (B) Turbak (C) Itutmish (D) Abeidullah
24, [WRRIRS (@ew JEE ERIZTeT RATE ol Aew@ I7 TR 2

(A) PRI (B) & (C) TTefim (D) Ttagmz
24, SIA (N PRETIN EHIAST A0 Jel AT Ia IR 2

(A) TRFO™ (B) (C) TeTgefim (D) TEREEZ
24, el YT o1 MREEAM G- TH THAHM FHETRES Sl TSTHH ?

(A) T eifaH (B) quh (C) seIqaH (D) 39T
24, el MHE A fEfated § 9w gEam™ 99 9 9% @6 2

(A) R FHIfem (B) ek (C) sogatdw (D) 3eigeen
25. What was the former name of Karbi Anglong district ?

(A) Mikir Hills district (B) Lushai Hills district

(C) Cachar Hills district (D) West Naga Hills district
25. JIR SR E@T 57 e & wiifest 2

A) fufes sk e (B) piz #ikey femel

(C) IR ey fema (D)  if*os 8l S{ifey feren
25. I SER (TR O A F e 2

(A) s sifer cee (B) PR ARSy (e

Q) IYT oS (&= (D)  =If*5x il #iFey et
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25. omifd aficd fSenfs it g1 wmm ?

(A) Tafe feeq e (B) qure feed e

(C) R feed forem (D) ErTs AT feed fret
25. RIa HATAT FSied 1 gel A R o ?

(A)  Tufert drefcr foem (B) NG Uiy fren

(C) SR Ty e (D) uf¥=m A ureiey fSen
26. Which instrument is used for measuring atmospheric pressure ?

(A) Hydrometer (B) Altimeter (C) Barometer (D) Thermometer
26. JYNSTH HI7 GRS (@FHRY TG I ]9 2 2

(A) 22GHEE (B) wIf5fiGR Q) &ITHoR (D) «rfGR
26. JIRINGE BIst AR Ty (I T 92T 1 27 2

(A) 2EIRGE (B) wIGRIGE (C) JRIfGR (D) <CHfGR
26. I SFYSH ARUSART TRYTIE! AT ?

(A) TESHIR (B) sTafefHer (C) SRR (D) oNH'fHeR
26. AIHESHE TAE I WO o T e STRTOT 1 SUART fohaln i § 2

(A) TESHIX (B) 3TEIHIX (C) X (D) oM
27. Who was the first President of the United States of America ?

(A) George Washington (B) Abraham Lincoln

(C) Thomas Jetferson (D) Benjamin Franklin
27. SN JERIGT 2N AgelfS @ wifesT ¢

(A) o A5 (B) N ferepa

(C) AR CerPITD (D) @GR @
27. W TSN 42 Aol & e 2

(A) T GG (B) niar ferze

(C) L (TP (D) @gItE FIElw
27. SRR Siemgee ffafs SRR 9 ?

(A) S afdfed (B) 3Teme fefehd

(C) I9H SHRET (D) SR Shehfer
27. g T STHRH & Y| TLUfd & 92

(A) SISt aTfeiTes (B) 3tomed feieh

(C) oT9" SFEA (D) S Thefed
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28.  Which of the following is not a criterion for citizenship of India ?

(A) Acquisition of Territory (B) Buying property

(C) Naturalization (D) Descent
28. fInfRRie Tza (PG oo eifieed el = 2

(A) i Sfaze (B) ife @7

Q) digfomaaed (D) =&
28. SIHA (@D SRCeR TR Awe 77 2

(A) ge TfFaze (B) ~ife @7

(C) FreiRF e (D) 3RS
28.  RAM AR HAA1 Merf e iy 7T ?

(A) TIH ARFSE (B) I HHGI S

(C) EFHHAE (D) ThIeR
28. frafafad # § & 91 9Rd St AFREHT A AFES T& © 2

(A) & H1 IR (B) wufa W

(C) WIhfdhertal (D) a9
29. Which community of Assam has “Choklong” system of weddings ?

(A) Bodo (B) Dimasa (C) Mishing (D) Ahom
29. SPINR (FIF ALWIS G’ LA [l Sefore =3 2

(A) <ol (B) for © fafx (D) S
29. PG (P A2MICEe [0 “(bIFe” 1w f® g 2

(A) @l (B) T&aIm (C) Tfbe (D) =ICEw
29. STEE o« B wehe ! @St Jfa A ?

Ay v (B) femmm (€ fafd (D) M\
29. TH % oy GeE ¥ ‘' =ra’’ i foamg gomet § 2

(A) @ (B) femmm (C) fufdm (D) 3=@H
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30. “Gobha Raja” is the titular king of which community ?

(A) Ahom (B) Mishing (C) Khamti (D) Tiwa
30.  “Colfel S@” (I T=ME THAIfE T@l 2

(A) SICS (B) faf (©) =mfe (D) fei
30. “calrel AEn” (I 2T FINg e 2

(A) S (B) farfox (© =l (D) fem
30. ‘T e @ 9 SR HaTee’ o ST ?

(A) W (B) faf§ (C) @mMfd (D) faen
30. ‘T T’ foR WHET ST AHER ST § ?

(A) oM (B) ff¥m (©) =i (D) feran
31. What is the main component of a glacier ?

(A) Lava (B) Salt water (C) Ice (D) Rain forest
31. f&SRIEs 24 Tomi & 2

(A) el (B) AR T& Q) == (D) J=el
31. ZRIEE 44 Tolme F 2

(A) el (B) FRUG T& C) =T (D) JR=
31. SXHGHI RIS fHema 1 ?

(A) @ (B) wE3? (C) TEH (D) 3T&l A
31. feoe g TF T ?

(A) et (B) @ Ul (C) 9% (D) oS =
32. Which dynasty ruled the longest in ancient Assam region ?

(A) The Ahoms (B) The Barmans (C) The Koch (D) The Sutiyas
32, SN SPT ETFS (I %13 AT I #Io7e Fffee 2

(A) SR (B) = ©) M (D) RO
32, (N AGRR MBI ST SIeRs TGS 1 (0 ST 2

(A) e (B) T (C) b (D) pfex
32. aﬁ ASThleX] HIAH Al ®I¢IF'H%S Q’1I°|r{~|"| [SIESK GIMIHQ[HH?

(A) TE'HRR (B) FHAGR (C) HIER (D) GfaamhR
32. YN 3T &3 § fohd USEw A ol 31y 99 e e fohan ?

(A) sw®m (B) wHA (© ®= (D) gfern

Paper-1 | F 15 P.T.O.



33.  Which of the following words is NOT in the Preamble of the Constitution of India ?
(A) Fraternity (B) Dignity (C) Modesty (D) Liberty

S N ey

33. FRfERe @G =0 okes ALRae awiTe TR ¢
(A) SIOEK (B) i € Ffw (D) FiETe!

33. 6T (I *6 SICed HRUIET AB_/AT (#1382

<

(A) alew (B) wi € Fw (D) el

33. TRME o9 Gigren YRt dfafsef Tawraeme e ?
(A) s (B) HH-GTHN (C) TIHSIRFY (D) it

33. foefafEd § 9 Si9-91 s YR & Hfaam i T&ie 8§ T2 ¢ ?
(A) AN (B) I (C) oo (D) E&cIdl

34. What is the introduction to Constitution of India called ?
(A) The Preamble (B) The Preface
(C) The Introduction (D) The First Page

34, SROR MFUNT NS S+ F o1 (R 2

(A) =@ (B) Sl

©) #fwx (D) =2 71
34. ORISA AR GHERAIE Fl @0 27 2

(A) BRI (B) I&I®

(C) g (D) == 7
34. YRaM Gfafse TawERARE 71 gHl 2

(A) G RAA (B) T®RAA

(C) TIRRA™ (D) &fy faerg
34. YA % G 1 AT I 1 FEAT  ?

(A) SEITEA (B) dUi==

(©) Ifm (D) TEE I3
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35. Kathakali is a dance form of which State ?

(A) Gujarat (B) West Bengal (C) Kerala (D) Himachal Pradesh
35. JARHR (T NG GF FoF <A1 ?

(A) @TA@l (B) Mo (C) el (D) feavet eom
35. AR (I ACSH T 2

(A) @ERAB (B)  ~Afoaaer (C) N (D) feaset eom
35. UK sl TSI HHAR ?

(A) TR (B) M ST (C) el (D) fTemm=a wowt
35. TR fohd ToT 1 T TY § 2

(A) ToRE (B) uf¥em & (C) (D) femm=a ww
36. Alexander (the Great) was from which ancient kingdom ?

(A) Persia (B) Byzantine (C) Macedonia (D) Ottoman
36. SIETRSSIN (I A6 s ifest 2

(A) =l (siem)  (B) Rwifew Q) e (D) =5’Ww
36. ONERSISE (VQW) @ LIS F0e7d foem 2

(A) A=Y (B) SIRCerDI ©) cIbrelf (D) STHHIA
36. 3RS (T U2) S TRl TMEE a6 FRLHM ?

(A) IR BRI (B) fommfe Q) FeR'Fr (D) 2'T'HH
36. o (WRM) fohe =i AT 9 o1 ?

(A) HRE (B) dfefea (C) TE=ITn (D) i
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37. Which of the following has the NITI Aayog replaced ?
(A) Competition Commission of India

B) Staff Selection Commission

Union Public Service Commission

Planning Commission

=

R (PG I13e TS SIS ok 391 (207 2

37.
(A) wies gt il
(B) OIS 16 St
Q) CFUR EERI SIS
(D) i<l ScAel

=

37. A (R Tife Sics afegivm @ 2

(A) wiFce dfecifsre! sicl
(B) FOIT o Sttt

() (U ERFCRI Sl
(D) CRiel Sl

37. TEMEE B S8 ST NITI STERT e 2
(A) KT HiATH A® i<

B) VI fHciehsM AR

C) I wifsarer wifele shftee

(D) Tauifa smem

(
(

37. ifa smam A fr=fafed § & forde wm famn &2
(A) R gfaeadt S
(B) SHHAR == SN
(C) H¥ ik Har ™
(D)  SISHT TR
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38. Which kingdom did Sati Sadhani belong to ?

(A) Koch Kingdom (B) Ahom Kingdom

(C) Dimasa Kingdom (D) Sutiya Kingdom
38. oI AN (FIL ST (0O FRA(NS Nl 2

(A) (I Ty (B) SIC ey

(©) o wrey (D) powI arey
38. TSI A (N ACEHA fRGe™ 2

(A) (o Ty (B) oIICE™ ey

(C) TGl wrey (D) phexl wrey
38. Hfd @y = o« TESEE 2

(A) TS (B) MW TSN

(C) fewman wsh (D) gfen wsh
38. Tl WiEH fhy o9 § Hafya off ?

(A) = TA (B) TR TH

(C) fear T (D) g T4
39. Which of the following countries does Assam share international border with ?

(A) Thailand (B) Bhutan (C) China (D) Nepal
39. FSERS (@@ (M TI0S SPIN SIGERg I NS Srags 7l oig ?

(A) =Y (B) EOM © | (D) A
39. TR SRS (@R (0R A0 SPT SIWE 1o IR SImiE 2

(A) 2e (B) WO (C) BN (D) A7
39. I BRI STEH FEISRR e e ?

(A) oSS (B) ¥ © = (D) o
39. o fr=fafaa o @ frg <o & Y STasd ST Gren i § 2

(4) oS (B) e (© = (D) e
40. Which country is known as the “Cockpit of Europe” ?

(A) Switzerland (B) Belgium (C) Spain (D) Portugal
40. REIRS (F O “ROERIAT T FHG” A Sl A 2

(A) pEEIECETS (B) (ReTfer (C) c>iZw (D) “galla
40. ICHF (Pl (G “TCCANCHR T e @l 2

(A) IEERETe (B) (@AfG= (C) >z (D)  (oATgaNTa
40. 9 TEE! ' TIWM FHepdie’ FAAM TR 2

(A) TS (B) s © = (D) T
40. g <9 R AT T RS’ FHEl 1§ 2

(8) fersers (B) fesrrm © ¥ (D) g
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41. 40% of 60 when added to 60% of 40 would result in :
(A) 40 (B) 48 (C) 60 (D) 64
41. 603 40% I IO 40  60% (9 FRCE TN 21 2
(A) 40 (B) 48 (C) 60 (D) 64
41. 60 €3 40% 93 AL 40 97 60% (] FACE FAIPE TS 8
(A) 40 (B) 48 (C) 60 (D) 64
41. 6019 40% B 40 1 60% il ITSTeTeEn ST
(A) 40 (B) 48 (C) 60 (D) 64
41. 60 H T 40% AT 40 H ¥ 60% H i T ufomg yred &rm :
(A) 40 (B) 48 (C) 60 (D) 64
42. If the Minute hand of a clock traverses an angle of 180°, the angle traversed by the Hour hand
during the time is :
(A) 20° (B) 5° (C) 10° (D) 15°
42. M TC! GO FIiH6I FI6 BITA 180° (Flel S0 I, (ST AF ANTS IOF FIo| CICHA Srors 341 (el
Xz
(A) 20° (B) 5° (C) 10° (D) 15°
42. W @30 9fa FiNGa FI61 180° (e ToT F(F, @ G2 TR W& TR FoE 2! Do 71 (et
PIGR
(A) 20° (B) 5° (C) 10° (D) 15°
42. v fafte smEnfem i 180° @' ST, Sl SN2 o HHE J9el @ |1 ST ?
(A) 20° (B) 5° (C) 10° (D) 15°
42, Af fRdt oS it fae =it 2 180° 1 IV Terdl §, A1 ST IRM He i S §RI SHMET 71 HI0T T

(A) 20° (B) 5° (C) 10° (D) 15°
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2m % 20 x 274 _ 512
-5 -
2

43. Find m if

(A) 5 (B) 3 © 8 (D) 7

m 6 —4 P
43. w2 X2 5X 2 " _ 512 (o0 m I N {599 595 |
=

(A) 5 (B) 3 © 8 (D) 7

m 6 —4
43. m st o9 Tl 2 ><25><2 = pl2
=

(A) 5 (B) 3 © 8 (D) 7

m 6 -4
43. m G g gk 2 ><25><2 —o12
=

(A) 5 (B) 3 © 8 (D) 7

m 6 —4
43. afe 2 ”5“ _ o2 A mIE |
= IS

44. (—1)°+(-1)° equals :

44. (—1)°+(—1)6 3 T (Z(= ¢

44. (—1)°+(—1)° @ I 3

44. (—1)°+(—1)° 7 = feg -

44. (—1)°+(-1)°H TIA T :
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45.

45.

45.

45.

45.

The square of a smaller number is subtracted from the square of a larger number and the result is
equal to the difference of the larger and the smaller number. The sum of the two numbers is :

1

(A) 0 (B) © 1 (D) 2

CRICTI W1 AN TIGACHIR I9(F 11 ARLCBIF 919 e caniat S0 woiepet 27l WO 2N 00 2 | 3R
YOI (I9Te (2R ¢

1

(A) 0 (B) © 1 (D) 2

GG J2ER TR 3 (AT SR FUoA AL 397 [ T L G T JRSHA G3R FUER FRAA
AL I AT IR | A 967 @9 25 ¢

(A) 0 B 3 © 1 (D) 2

Y fq safsH sifree Ja9a frafas s el ema s, fafq Sea o et 0 fman
st wrrEfafs gam 1 o 9 sHfsmfe SrSremEET

1

(A) 0 (B) © 1 (D) 2

ol <1 Hemed o ¥ e e & avf a9 W' & o @ S o § iR g S demel & i &
SR BT S| S e w A ¥

1

(A) 0 (B) © 1 (D) 2

46.

46.

The sum of any two integers is :

(A) always a non-zero positive integer.
(B) always a non-zero negative integer.
(C

(D

) always either a non-zero positive or a non-zero negative integer.

) always either a non-zero positive, a non-zero negative integer or 0.
RICRIC U1 ST AL (91 ¢

A) IR GO S G TR AL 2 |

FVR @] Sy AelTEE S L B |

C) M G S LIGF LA GF YIF TG AR 2T |

D) WA GF S LG, G S ATSE S AR T 0 S |

B

~—"

(
(
(
(
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46. (@ I 9o AoBRAT (9w ¢
(A) % @6 S T e |
(B) W @D SI-* elSIF oJefo12 |
(C) I =GB S-*eT LTI A S-*[ AT o127 |
(D) 71 W GO S ISF, G SI-*[ (G 227 Al %7 |
46. STATESTAT WA W1 STATSHIA TSR «
(A) SiecTee! AIfE’ IS TS 'S |
(B) SiecEEl ARG’ S TG o1 T SIS |
(C) SiccTEsl AfRE’ 7E HSTE TSTea Alforg’ 78 @ o T’ ST |
(D)  SiecTEsl ARE’ 98 SHTe TSTea Alferg’ 78 S el TN’ ST ST T Teet e’ |
46. Torgl < qUTlehl 1 41T
(A) TN TH TR-IFT ¥FITR quiteh B g |
(B) TN U TR-I[ ThRIcHS Julieh &Il & |
(C) T A T T TR GAITF o1 Th TR-Y[F ThRIF JUlieh Bl & |
(D) TN AT A Tk TR &, Teh IR-Y THRIF quiteh, A1 0 Biefl 2 |
47. The total interest accrued on a Principal of I 1000 over 1 year at compound interest of 10% per
annum compounded 6 monthly, is :
(A) ¥ 105.20 (B) ¥ 102.20 (C) 10250 (D) ¥ 105.50
47. =fS 6 3% IT© bagfa 7 &6 FRC T=E 10% b o9 2T X 1000 AR 1 29 7@ Sl (2l 2
7eq Sifaslel (2% ¢
(A) ¥ 105.20 (B) ¥ 102.20 (C) 10250 (D) ¥ 105.50
47. 1 IREE N R T 1000 G THR AR 10% b 26 &S 6 N1 vagiwee g2 Joms Al
= 8
(A) ¥ 105.20 (B) ¥ 102.20 (C) 10250 (D) ¥ 105.50
47. %1000 T @ SERIR 10% BR 1 SERA sREs™ 98 g, S aRmem ge@t 6 SR @@ -
(A) ¥ 105.20 (B) ¥ 102.20 (C) ¥ 102.50 (D) ¥ 105.50
47. HAYI T 1000 W 159 F 10% T o6 & <Ishgfg A1 W 6 A Fshafg A et T 315 Fl AT

g

(A) % 105.20 (B) 10220 (C) 10250 (D) ¥ 105.50

Paper-1 | F 23 P.T.O.



48. The remainder when 2° is divided by 5 is :

(A) 0 (B) o6 © 2 (D) 4
48. 2095 (F 29° €A1 AW ©oICAT 29 ¢

(A) 0 (B) 6 © 2 (D) 4
48. 20 (35 7l Ol THCE TG AT ¢

(A) 0 (B) o6 © 2 (D) 4
48. 2615 S THIEA ATAHM TG 6

(A) 0 (B) 6 () 2 (D) 4
48. <& 26 &1 59 fauifed fra € 91 ITFa a1 ©

(A) 0 (B) o6 © 2 (D) 4
49. (x*>-3x—4)+(x+1)=? (x#—1)

(A) x—4 B) x-3 (C) x-2 D) x-1
49. (x®>-3x—4)+(x+1)=? (x#—1)

(A) x—4 (B) x-3 (C) x-2 (D) x-1
49. (x*>-3x—4)+(x+1)=? (x#—1)

(A) x—4 B) x-3 (C) x-2 D) x-1
49. (x®>-3x—4)+(x+1)=? (x#—1)

(A) x—4 (B) x-3 (€ «x-2 (D) x-1
49. (x>-3x—4)+(x+1)="? (x#—1)

(A) x—4 B) x-3 (C) x-2 D) x-1
50. The value of \/1849 is:

(A) 33 (B) 43 (C) 53 (D) 63
50. /1849 I W (X% ¢

(A) 33 (B) 43 (C) 53 (D) 63
50. /1849 99 W % 3

(A) 33 (B) 43 (C) 53 (D) 63
50. /1849 T &M -

(A) 33 (B) 43 (C) 53 (D) 63
50. /1849 HI UM T:

(A) 33 (B) 43 (C) 53 (D) 63
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51.

51.

Let all the months of a year is of 28 days. If January 1 falls on a Monday, then April 28 will fall
ona:

(A) Friday (B) Sunday (C©) Monday (D) Saturday

¥ (M1 e (@ @51 I79 FFCAIG A2 28 el J& 2| M 1 SIS WMo EINRR 27, (o0% 28 «fee™
ROESE

(A) ©TAR (B) @™ (C) == (D) =R
51. 43 IZFF 9K W 28 e | M 1 SR CIRRIR 27 ©F 28 afes 73 ¢
(A) ST (B) @ (C) I (D) ===
51. BEAM @1 S SERM MHET ST 28 WHE ' Rl | fe 1 SHaRieEnfe SHeR il oTea, 28 Tt |
S ?
(A) YHhIR (B) ereIX (C) HHeR (D) wfHeR
51. T o U o & |l Afe 28 foAi & 20 €1 Afg 1 ek 67 WA et €, o 28 ST i U=
(A) RN (B) e (C) HHAR (D) wffer
52. The fractional form of the recurring number 5.121212 .. .1is:
507 517 517 507
(A 5o (B) 59 ©) 59 D) 59
52,  (ITeesffe@ 4Tl 5.121212 . . . T S FAK! (2R ¢

52.

52.

52.

N 57 5 517 o 57 o 57
()90 (B) 99 ()90 ()99
Wlﬁ\o RN 5121212 . . . &9 OARHK oA ¢

-4 o 57 o 57 o 5
()90 (B) 99 ()90 ()99
AR 3T 5.121212 . . . [ dSiEeE< 384 -

-4 5 57 o 57 o 57
et H&A 5.121212 . . . 1 f=cAs &9 ¢ :

N 57 5 517 o 57 o 57
()90 (B) 9 ()90 ()99
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53. If mis a digit and the number 46 m 23 is divisible by 9, then the digit m is equal to :
(A) 1 (B) 0 © 5 (D) 3
53. M m AwST GBI P T W% 46 m 23 FRAICG! 9 (3 oIy R, (90T m T S I3l & ¢
(A) 1 (B) 0 © 5 (D) 3
53. M m A@OF G0 OF W G 46 m 23 A 9 A KoTey =, OI=CE m SF(H A ¢
(A) 1 (B) 0 © 5 (D) 3
53. I m 3T HFH WERHT AR 46 m 23 STATHET 9 S TS, STecll of SHRH™T &R -
(A 1 (B) 0 © 5 (D) 3
53. AfS m T YUMCH 1 Teh 37k ¢ 3R T 46 m 23,9 ¥ fausa &, @ 3feh m TR 7 :
A 1 (B) 0 (C) 5 D) 3
54. Addition of two Roman numbers XIV +1V equals :
(A) XXV (B) XVIII (C) XIX (D) XX
54. BI (IR A C@oree] XIV + 1V (202 ¢
(A) XXV (B) XVIII (C) XIX (D) XX
54. 7o @ AL XIV +1IV @3 (9% ¢
(A) XXV (B) XVIII (C) XIX (D) XX
54. T WH AR XIV + IV @ ISTeiree 7 /i ?
(A) XXV (B) XVIII (C) XIX (D) XX
54. < AT GEAS w1 AT XV +IVE :
(A) XXV (B) XVIII (C) XIX (D) XX
55. The diagonal of a square is 10 cm. The area of the square is :
(A) 100 cm? (B) 50 cm? (C) 64 cm? (D) 48 cm?
55. @i 39fq 9 (E14 10 (5.3 | 395G Faweet Tz ¢
(A) 100 ¢5.fr.2 (B) 50 (.fi.2 (C) 64 v.fi2 (D) 48 (5.2
55. @35 9fCHCaa 39 10 @A | I9fCwafta Fifer =1 ¢
(A) 100 @2 (B) 50 @12 (C) 64 @12 (D) 48 @12
55. HMY i @ A1 gr@e 10 9.4, | o i smifern -
(A) 100 9.f1.2 (B) 50 &.fa2 (C) 6492 (D) 48 ©.fa2
55. U ot ot faenuf 10 It §1 ot o1 &R R
(A) 100 HHR2 (B) 50 G2 (C) 64 G2 (D) 48 TR
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56. The LCM and HCF of two numbers are 24 and 4 respectively. If one of the numbers is 12, then the
other number is :
(A) 20 (B) 8 (C) 10 (D) 6

56. 5! FRATIT NG AR P11 TATC 24 TiF 4, FRANEIE G5! I 12 T (SCT DG 72 T ¢
(A) 20 (B) 8 (C) 10 (D) 6

56. Wb AR AL, G AIALEG. JAFE 24 3R 4. G0 AL 12 20 S 2D ¢
(A) 20 (B) 8 (C) 10 (D) 6

56. M+ SAMTHATRRI g.37.91. TR <3791 a1 Wik 24 TR 4 | i SHARTH 81 12, TE STAFSHM@T -
(A) 20 (B) 8 (C) 10 (D) 6

56. <1 WA 1 ALAH THTE SR IHAH HHIISAE HH: 24 3R 4 F | A T W@ 12 %, @ T W
g
(A) 20 (B) 8 (C) 10 (D) 6

57. The sum of the present age of the father and the son is 60 years. After 15 years, the father’s age
will be twice that of the son. The present age of the son is :
(A) 10 years (B) 25 years (C) 18 years (D) 15 years

57. 919 W% 2/q TG 39 (NI 60 T | 15 T F91=o 9 I297 7[@q T2919 1@el 29| 9jgq IO I
2=
(A) 103= (B) 253 (C) 183= (D) 153

57. foIol € 7Jaq IS TOR (@9TA 60 I | 15 TR #1F 1o T891 718 WO awed 20| 7J1ad IS I
EGIE
(A) 10 (B) 257 (C) 183 (D) 159

57. STt foaw TR fREsen S SSTeram 60 SER | 15 SERA 36 fohi sEie st
T ST | ST fReeet SEieT s 2
(A) 10 9ER (B) 25 ¥R (C) 18 9ER (D) 15 9ER

57. T 3R Q3 o1 S ST 1 A1 60 I8 © | 15 99 o1 a1 s 31 G ot 371 9 SR et | O i e
AT :
(A) 10 =d (B) 257ad (C) 18 =W (D) 15 W

58. Two numbers are in the ratio 3 : 4 and their sum equals 49. The two numbers are :
(A) 16, 33 (B) 18, 31 (C) 21,28 (D) 24, 25

58.  (SFICANI YOI | 3 : 4 SEoATO® (R S PrRwq (972w (2= 49 | FN WOI T4 ¢
(A) 16, 33 (B) 18,31 (C) 21,28 (D) 24,25

58. b A 3 : 4 SAICS BT IR OIWS (9T 2 49, A7 7f0 29 ¢
(A) 16, 33 (B) 18,31 (C) 21,28 (D) 24,25

58. MW STISHIM TS 3 : 4 TR foER SO 49 | SR Hi-= STem -
(A) 16, 33 (B) 18,31 (C) 21,28 (D) 24, 25

58. A TEMT3:4%F I H € AR FTH AM49T | AJ T&AMWE
(A) 16, 33 (B) 18,31 (C) 21,28 (D) 24,25
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59. A garden has p numbers of trees. Every tree has q number of branches, every branch has r number
of sub-branches and every sub-branch has s number of leaves. The total number of leaves in the
garden is :

(A) p+q+r+s (B) pq-+trs (C) pqr+s (D) pqrs

59. (I @3 MRS p (Sl R SAR| Aol TS q FAGE 1, ATSH! *AS r AT oIl SN
ATSTOl ToMIIIS s FRAF 2I1S =7ifal TR | AfIRLTS A 7S #11eF T2 (2% ¢
(A) ptqtr+s (B) pq+trs (€) pgr+s (D) pqrs

59. G AN p FRAF e TR 2fSB 9MRF q AT * ARCE, 2T =R 1 AT Gl AT G3%
2fSfb TR s FLUP 210l TECR| 9 (G ATl AT 27 ¢
(A) p+q+r+s (B) pq-+trs (€) pqr+s (D) pqrs

59. WY foemeniEmE o p S S| ShHel SHISTE HH | s <, I3 HAhBM 376 | r el w3 sl
A SreTs-TRame 1 s foerg €1 o foremantiare med foerms < 2
(A) p+q+r+s (B) pq-+trs (C) pqr+s (D) pqrs

59. Tah o= H TSl ol G p § | Tieh U H YA &l §&AT q Bl ©, Teoish I H SURM@nsii oht G r 2rdl
T IR g U # uftel i e s At ¥ | i | uftdi i ga wen
(A) ptqtr+s (B) pq+trs (€) pgr+s (D) pars

60. The sum of the odd numbers 1, 3,5, .. ... upto 15 terms is :

(A) 225 (B) 125 (©) 169 (D) 196

60. AU, 3,5,..... T 15 Bl #IM(eT Jo (oI (202 2
(A) 225 (B) 125 (€) 169 (D) 196

60. SFAMRAIL,3,5,..... 15 5 +iv 21 (5 A0 oI T4 ¢
(A) 225 (B) 125 (€) 169 (D) 196

60. ST SN, 3, 5, . . . 15 faere fawfy grememméan -

(A) 225 (B) 125 (©) 169 (D) 196

60. 1,3,5..... anfe forom Hemstl 1 15 wai 7 &1 A 2
(A) 225 (B) 125 (C) 169 (D) 196

61. Which of the following is a non-renewable source of energy ?

(A) Wind power (B) Hydropower (C) Solar energy (D) Fossil fuel

61. (RGNS M2 (FACG! =& SR T 2
(A) IP*fE (B) wemife ) vnfe (D) G 27

61. TIHF (D SRR *Ifes T 2
(A) e (B) wwEige#fe  (C) CTf® (D) G gl

61. TR So@ YK HIGHSIE @l ?

(A) R - Sl (B) < - @l (C) 4 wifem (D) e S

61. Trafafed § @ F-91 St 1 R-TFeramei™ &ia © 2

(A) T FHet (B) < forea (C) TR s (D) SirereH g84
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62. The highest gallantry award of Indian military during war is :
(A) Maha Vir Chakra (B) Param Vir Chakra
(C) Ati Vishisht Seva Medal (D) Ashoka Chakra
62. I7I ITRO OFOF ANEF e[ A TG J61 (2= 8
(A) RIEOF (B) RN IoF
(C) wfs RS @Rl 7w (D) SIC*IIs b
62. IEFICH AN SRS ANRS AT 7 A TG 77FE 29 2
(A) TR (B) NI
(C) wifs RS Rl GIws (D) SIC¥F b
62. STEE-HHTE WRATR SHTIEHSIAI B Sifee FRre s s
(A) WRIR <k (B) TH foR =k
(C) afq fafere |an A (D) AU =k
62. I§ % XM ARATT 1 H Fait= SRl IR T :
(A) WEER <5k (B) THA =5k
(C) Afa fafere Ten we= (D) 3T =k
63. The first modern Olympic Games was held in :
(A) Athens (B) Paris (C) London (D) Berlin
63. 22 YF AT (457 T'© SRyfe CaferT 2
(A) @™ (B) (g (C) @ew (D) aIfefq
63. = FYfTF SfeTfoiF Tl seFe =7 ¢
(A) @2 (B) =mifs (C) = (D) 3ifefq
63. et Ffeiem o1 fefiues seEerr==r e S ?
(A) T (B) R (C) @A (D) et
63. WUH YT STltes Tl el S o T 2
(A) T™ (B) uR™ (C) e (D) @fel
64. In a family, the sum of the present ages of the father, mother and the only son is x years. Aftery
years, the sum of their ages will be :
(A) 3x+y years (B) 3 (x+y)years (C) x+y years (D) x+3y years
64. <5 ARTIETS o9, TP ST GFNG 7G99 TS TPTIEI Y2 (@911 1 LT | y T2 120 (0 ETEIFT ROPTRI
o @NTA LA
(A) Bx+yI=AF (B) 3 (x+y)I=R C) x+yI=R (D) x+3y =]
64. I AR GFGH oIS, TSl G GG (G TS AR N9 x IR | y T2 217 OIR IWER (Horee

32
(A) Bx+yI=H (B) 3 (x+y)I=R Q) x+y=A (D) x+3y3I=F
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64. STTUEE 99 7 G fol, fomm TR freasent sEie 519 ¢ SER |y SR 3T fodr aEif

HEIENISEIRSIE R R

(A) 3x+y dER (B) 3 (x+y)dER (C) x+y SR (D) x+3y SER

64. T IRAR ¥ fia, AT SR gheild 9 Y ST 3TF B AT I8 €1y T % 91, Sh T H1 A0 ST
(A) Bx+y ad (B) 3 (x+y)ad (C) x+y o (D) x+3y a4

65. Ason 15t of January, 2022, which of the following is NOT a (administrative) Division of Assam ?
(A) Lower Assam (B) Barak Valley
(C) Hills and Central Assam (D) West Assam

o~

65. 202239 15N SRIS] ACATE WRHIRS FEG! SO (HHF) FRAGeT T 2
(A) IS SpT (B) I|IT T
(C) R @ ey ST (D) #M6x SPT

65. WIS (NG 2022 «F 1 & SERT ACATE SPICR (2HTF) FRASE T 2
(A) % =P (B) IR G
(C) AR @ ey ST (D)  #M6x SPT

65. 2022 AE 1 SIHER WIfAfw= TMRE Se&1 STEm (Gaream) serl 1T
(A) TR HAEH (B) oIk HIH
(C) TTSi TR TSR ST (D) G 7T

65. 1 SeRl, 2022 I Fr=fafed § & & 91 3199 1 (RIEfeh) TFT &l © 2
(A)  Tere e1EH (B) I =Rl
(C) Teifeat ik e s7om (D) ufe=g /m

66. In which field did Bhogeshwar Baruah excel ?
(A) Athletics (B) Swimming (C) Badminton (D) Football

66. (ST INT (FICH! CFqe SAuifel &l TR 2

(A)  QUCETH (B) ftom (C) @Dy (D) F5ae
66. (O I (I CFCG AT 2

(A) SO (B) fe@ (C) D (D) T5I&
66. SR TEA 9 fohHE AET-HRETHH ?

(A)  TAfT (B) HHfEHAM (C) wsfi=ed (D) Fdad

66. SITeR s%aT A fhd &3 H Iepte el fohan ?
(A) Tdfeam (B) TRt (C) defHen (D) Feara

67. The national flag of which country features a dragon ?
(A) Bhutan (B) Singapore (C) Japan (D) Myanmar

67. (T (PR TSI AOIIe (Gole 21 SN0 2
(A) o (B) Teallo= (C) Tl (D) SIS
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67. (I (TR STORT 2SI QoI 2 IR 2

(A) ©oH (B) PErs= (C) @il (D) SRR
67. 99 T FRihaEE $7H € ?

(A) YaH (B) fEmY (C) SI9H (D) HMER
67. ToE <W % T oS WS Siferd § 2

(A) e (B) fomR (©) SmH (D) *AMR
68. Which of the following movies was not released in 2023 ?

(A) Jawan (B) Animal (C) Pathaan (D) The Kashmir Files
68. TRMGIR® (PN beribvg 2023 bl & (AR FifeeT 2

(A) T (B) «fqcaret Q) AN (D) W I FZeT=R
68. I (I HaOGAD 2023 A Y& oA 2

(A) TeT (B)  enIfsIyey (C) st (D) W SR FIEeP
68. TR 98 WEYAE! 2023 HRIATSAE FRAR SR ?

(A) &M (B) wfHw (C) A (D) T’ YR wEed
68. frAfafed § & wF-d fhew 2023 # Refts 718 g8 off ?

(A) SEH (B) ufHa (C) M (D) T HYHR HEeH
69. Which of the following Novels was written by Kanchan Borooah ?

(A) Mrityunjoy (B) Oximot Jaar Heral Xima

(C) Ontorip (D) Asol Manuh
69. TRREIRS (S TR Fiver 912 o1 Ffafet 2

(A) TG (B) SPIINS [ G2 =

(C) eIl (D) bt SR
69. <A (A TG Flgew Tl LT 2

(A) ToGH (B) SPITS I (2 I

(C) =TI (D) e W
69. TR o6 Tl WG == a%am feme ?

(A) HITHE (B) AHHd S ?U o

(C) ARy (D) 39 HIJE
69. FAfarEd H ¥ HHA-91 T had J%sTl g1 foren 72 o1 ?

(A) g (B) oTHIHA SR A Hel

(C) T (D) 379 HIIE
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70. Harihara also known as Hakka, and his brother Bukka Raya, founded which kingdom ?
(A) Chalukya Empire (B) Vijayanagara Empire
(C) Chola Empire (D) Hoysale Empire
70. TF ANRE 25T 2z I (9€T ©Y IF AT (i TSy efed FiRfew?
(A) B ey (B) Rermem ey
(C) (B ey (D) ==l ey
70. =fe R 2@ A «ififoe @3k o7 iz 3@ a1 @i qrefs afewt Fafaem 2
(A) BERY ey (B) RemeR A=y
Q) (Bl Ay (D) =& Ay
70. TRER, S TIh1 BAAHa RIS, TR faf her gaeht T, 99 TESiEl MEAeiHE ?
(A) ST IS (B) o WS
(C) = |HIS (D) B HHTS
70. TR, 9 TRl & AW ¥ oft I S T, 3R SHk WIS FoRl T A R AU i T 6t 2
(A) =TI HH (B) fosaTR "HA
(C) = FEA (D) TS AU
71. Who conferred the title of Kalaguru to Bishnu Prasad Rabha ?
(A) Rabindranath Tagore (B) Bishnuram Medhi
(C) Subhas Chandra Bose (D) Sarvapalli Radhakrishnan
71.  RReePi e IS TAlfE (FI ewid SRR 2
(A) ™ IIFT (B) g cufy
(C) FoRvE I (D) P FRFA
71. g 2PIm FreiE Fales Tolfd (& frcaferew ¢
(A) I I (B) =g uf
(C) Forvm I (D) P ARFA
71. ‘‘ware’’ oy @t fasy yoe v SR s ?
(A) ez Ty A1ge (B) Torim #fy
(C) U™ =g 99 (D) Weeel TR
71. TI90] GEE 1 h1 HANE i 3UTY fhew < 2
(A) A" TR (B) forouRm A+h
(C) v =g 9" (D) Heucd qUHWH
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72.  Which country is known as the “Land of Rising Sun” ?

(A) China (B) Japan (C) New Zealand (D) Indonesia
72. (PR O TR T (1 A SRS 2

(A) B (B) @AM ©€) s (D) Zreicfe
72. I O “TARA R O A AR 2

(A) bW (B) @i (C) eferme (D)  ZCwICaea
72. 99 TE@!  TH ST B B ST ?

(A) = (B) MM (SEREEECES (D) s=AfEa
72. ToE @A 0 RS S F AH H S S € 2

(4) = (B) T (© =pfdte (D) ¥emfREn
73.  Which of the following is highest, among ranks of the Indian Army ?

(A) Brigadier (B) Lieutenant General

(©) Major General (D) Lieutenant Colonel
73. CROR R “MIPTIES fooss WRERS @G AR 27 2

(A) fEeaifeaR (B) (TG (ST

Q) CT&R (SR (D) (ETFCBECG el
73. SR (FAD SRS CRAIETR AmRIIGTER S A 2

(A) feaifeam (B) GTRGIT (SHICHE

Q) CToR (SHIEE (D) (ETRCHIG Sl
73. TREM Sera YA @t gt S ol ?

(A) feoiifeam (B) THRdT= S

(C) TSR I (D) WHAIE hd
73. Trafafed § 9 o0 wrda 91 % i § gat= 72

(A) forifeR (B) e Sd

(C) TSR SRd (D) e &Ad
74. Rabindranath Tagore was awarded Nobel Prize in Literature for :

(A) Ghare Baire (B) Gitimalya (€) Gitanjali (D) Gora
74. (PG FOT AR T IFR AR @IFe b1 e Fffes 2

(A) FERIARE (B) fewe Q) ereigfe (D) Cal
74. FTGNIL I AR (T SFTHE 71 IR (T 2207 & 2

(A) WEARE (B) Moy Q) Meigl (D) con=l
74, SSAY AT YAARE T ARG A’ & AR STe) 2

(A) R AL (B) farfeemeran (C) Tirar=sreft (D) T
74. TS SR H1 e Hfa & foau wifecr # e R § i fon 7o o ?

(A) =S (B) ThfaHrex (C) Tharsfa (D) TN
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75. The Ramcharitmanas was written by :

(A) Kabir (B) Veda Vyas

(C) Adi Shankaracharya (D) Tulsidas
75.  FINAON)FT B T4 ITFNRF (Z0Z 8

(A) FR_ (B) @@

(C) i *izam (D) eEmTm
75. FIVbHeNT &1 FfEe 3

(A) W (B) WA

(C) i ===Is (D) wePTm
75. TEERTEARGE R fAarmE 2

(A) HR (B) o &M

(C) i W= (D) qafee™
75.  THERGErE S foran wan on

(A) HER (B) & =IH

(C) 3T TiT=m (D) dodie™
76. Which of the following is NOT an IPL team ?

(A) Delhi Capitals (B) Gujarat Giants

(C) Sunrisers Hyderabad (D) Lucknow Super Giants
76. (ARG T2 (! SNE#Hge wel T2 2

(A) Tl bR (B) wTA WETY

(C) RWTRITEE @AM (D) #CHI IR SRR
76. 53 (P SN2 19951, v w7 2

(A) Tl Fif=(GEm (B) TRIG SIIDA

(C) mRiEER TrmRm (D) TCEF1 FAR SARGA
76. TREM 99 G832 fa ua 4 el =T ?

(A) feoet wfqded (B) TSR SIS

(C) IMURSIE AU (D) <ETS UR ST
76. Trefaiad § ¥ ®A-4 318 9 Td 99 T8 & 2

(A) fooett wfteew (B) TSId STHeH

(C) TR TElE (D) RIS R S
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77.

77.

77.

77.

77.

As on 18t of January, 2024, who holds the portfolio for External Affairs in Narendra Modi’s Council
of Ministers ?

(A) Dr. Subrahmanyam Jaishankar
(B) Smt. Nirmala Sitharaman

(C) Smt. Smriti Zubin Irani
(D)

D) Shri Kiren Rijiju

2024 59 1 & SRS ANCATE @ GICIF @1 sifFawe [@iE 2I_REwq 7ed FI9 eoTe TS T ?
(A) o HIHEIN GR*FS

(B) &ATS! st o

(C) &St e gike 27T

(D) & fee faferg

2024 & 1 &1 SRR AICATH M™M= NG AR @i R v wikiey @ o 2
(A) ©° T TR

(B) &RTS! fsfal Srerasel

(©) &S e g ZM

(D) & feam ey

2024 HrFTEH 1 SR WIfAfEH s HIGH Hi-3 STRGHERR srersil srgsTR gren o SR g ?
(A) T GIRIIH SR

(B) iwcht foefen Hiarmm

(©)  #relt wyfa Sffer sreft

(D) 1 %I fiforg

15, 2024 H1 g Hi&t &1 AR § fode Jaer 1 99R fhds 74 ¢ 2
(A) Sl GoIEoaH IR

(B)  iwcht feen diarmo

(C) it Ffa Jfer Eoeft

(D) t fopm fifrg
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78. Near which town is the Da Parbatia gate located ?

(A) Tinsukia (B) Tezpur (C) Silchar (D) Barpeta
78. (PN BT TS ¥ ALS I (O1Fe SRIFS 2

(A) fefpsia (B) (O&T (C) Tems (D) JSCoiBl
78. W KOl A (I I F(Z SRAES 2

(A)  TomgRm (B) (&7 (C) Tema (D) IR
78. 7' YA S ST T AR Wi g ?

(A)  fargfen (B) dSR (C) Taer=R (D) SR
78. T gdfaan Wi fore v & U feer 72

(A)  forgfeman (B) dSR (C) THer=R (D) U
79. Which of the following is responsible for converting milk to curd ?

(A) Actinomyces (B) Lactobacillus  (C) Fusobacteriota (D) Malassezia
79. AT ™ o1 oS N9 (e WReIRS (@R eire 920 31 2

(A) 9fFEEGR (B) T CAbeR (C) FRCIAGI (D) weicsie=
79. A (@PAD FUE M8 AT &) WA 2

(A) SUfFENEPM  (B) WUSGRIPE™  (C) FEIRIFGRES (D) Syeeie
79. TS S Jo TSRS MEEEEl STRra ?

(A) TRA'"EEg  (B) wRWEam (CQ) FHEwRIAE (D) HAcmsisEn
79. ¥ I @ ¥ sgen & foa frafafed § 3 s kR €72

(A) TRTAWEGE  (B) deREde™ (C) WEEFRIERT (D) eSS
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80. In Assamese literature, who is known as “Ekhud Kokaideu” ?
(A) Nabakanta Baruah (B) Medini Mohan Choudhury
(C) Kumud Chandra Hazarika (D) Kamalakanta Bhattacharyya

80. SPTNII AfTSTS “@ynt FHRIZWS” TN FIF Tl AT 2

(A) TRIIE 371 (B) el (= BTy

(©) T o™ FGf (D) RIS OHIGR
80. SRR ALY (& “Qyv FHRME” I #Iffbe 2

(A) TR (B) (el (A= CH1YT

(C) T o™ FE (D) ITARIE ©HHR

80. THMAT YAeEsNE URE! ' TET & 'wged’’ T faferd ?
(A) TR TEaT (B) HfeHt Hew =yl
(C) T == & et (D) ¥R A=

80. oA Wifecd # ' T FhEes’’ & AW ¥ fhd S S § 2
(A) Tohid SBT (B) HfcH wed =l
(C) T =iz BT (D) HHerRIq wEgrEm

81. Sunlight helps in producing which Vitamin in a human body ?
(A) Vitamin C (B) Vitamin B (C) Vitamin D (D) Vitamin A

81. I (oA MR *FITe (P fEHIfm Teomrs 723 3 2
(A) fBIfim C (B) TeOI= B (C) TSBIffm D (D) TeOifsE A

81. 0 S| NFIHCE. (I TBIA O] FACS AL TR 2
(A) fEBIfm C (B) feoitm B (C) feofim D (D) feBifim A

81. WM <EmEmE WHge Jd fefal Irfs ?
(A) fqaf C (B) T9aifya B (C) fwarf = D (D) f9arfiT A

81. T =1 Yok AME YRR H fohe faeifam & scared # #eg war § 2
(A) feerf C (B) feerfda B (C) fearfda D (D) feerfdT A
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82. Which of the following statements is incorrect ?

(A)

Thomas Alva Edison was deaf.
Apple is related to discovery of gravity.
The brightest planet as seen from earth is Venus.

The chemical symbol for sodium is Sd.

o

82. Txfle @G Tfe sug 2

(A)
(B)
©)

(D)

IR TS Qi afaq =i |

N ToT9 SREE T SNC2RAR T4 Sz |
TR o[ (4l SBIRSCT Teeet 920l S |
2GR IR 2ol (2= Sd |

82. WA (T [RYFeb wrem

B Sierel G AR fRe |

o MR SRFIER A TS |
w7 2JfAT (A (L TR Tege 2Z |
SRR IR 281 251 Sd |

82. TIEHEIE S dd fagfoan ar T ?

T STAMT TfeT 1 S |
TSI FETA1 AT ST R =< < |

ek TR o IEAHHE TSR AR SiErd U8 |
wfeamtt TaEte fefafemn sd |

82. TreAferfad § 9 -9 %" Tad 2 2

Ty 37ee TfeHT e & |

T 1 Gale TEcarhy vl i Gt H T

Jeal ¥ W A el Yol THeh I T8 Y5 § |
Tifeam 1 TEEfeh Jdieh Sd T
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83. Which of the following airlines does not exist anymore ?

(A) Spicejet (B) Indigo (C) East West (D) Vistara
83. [l @G NN AR wiey Tw+ 7Twre 11T 2

(A) “IZ5Ces (B) fesr ©C) T @ (D) femml
83. SICbd (I I FF O (I wIfFg (712 2

(A) I (T (B) Zfetal (C) =5 ew@H (D) fewmi
83. TR oel forE IR FSIEn STferrend et ?

(A) Y S (B) sf=n’ (C) z=ow (D) fweam
83. Trmfafed § & HH-H TReR" o1a ifdda # & €2

(A) TEESE (B) sfem (C) T o= (D) fa&m
84. Which country was involved with India in the Doklam incident of 2017 ?

(A) China (B) Afghanistan (C) Bangladesh (D) Myanmar
84. 2017 5vF TN FIGT O (CS (Fde (7% Tiow oifes] 2

(A) BN (B) Safe®ie (C) IETITH= (D) SO
84. 2017 /(ST (I So ©IFCSH 0 (Flel (7] &fYe e 2

(A) B (B) TSI (C) ST (D) SRR
84. 2017 HETEM SHAM STAEE 6 FGU TS TLSTARISTGIHM ?

(A) = (B) SMEMEM  (C) dielRy (D) HHR
84. 2017 ¥ Siehci H § WA & TN I A S0 AAHSA o1 ?

(A) == (B)  STHMTEIH (C) @TeTew (D) =HR
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85. Saptakanda Ramayan was written by :
(A) Horibor Bipro (B) Madhava Kandali
(C) Ananta Kandali (D) Hemo Saraswati
85. TR FINFY (I feiffes 2
(A) === e (B) iz Il
(C) FTT Fwler (D) @IFTS!
85. STPIG FIN T AR ¢
(A) Ry (B) li&@ FWlel
(C) TT Fwfel (D) EI3ETS!
85. TWHTE THETEI! UR famee ?
(A) iR foag’ (B) HI¥E hHusal
(C) o= Husal (D) &' |EE
85. HWHIUS THAY {hteh gRI ol g ff ?
(A) TR fag (B) HIHE Hhafal
(C) 3THd shafd (D) &H HLEl
86. What is situated at the confluence of three streams Sandhya, Lalita and Kanta ?
(A) Vasistha Ashram, near Guwahati
(B) Ajan Pir Dargah, near Sibsagar
(C) Malinithan temple, near Silapathar
(D) Garampani hot water spring, near Golaghat
86. =, =IfeTel Ok FW AN TG Srerdiqig AaTEeTS (TG SRIZS 2
(A) SR AT I ST
(B) FREIRE AR SIS 19 79ig
(C) ToetviaEs Ti7T Mfsieie sfrg
(D)  (SETHIGS Ao SR T & TF
86. =l SfeTel, FW U3 fomlb T 2R TBRIECE SRE ¢

(A) R FEoa! IE s

(B) fRmTisica F6as ! wiiene 11| vl
(C) Mol Fasast sfemze sfrg
(

)
D) (ANEQICER ool swsiife Tae o
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86. T, AfTal TR ShI=l ST AR ST MRE S& § ?
(A) <IY T1gH, TERR! e
(B) ST R SR, THaEmR wraferare
(C) wifafem af<y, faemmiar ST
(D) TRHUM T§ T $El, TTeTHE |t
86. e, Al SR a1 I STaremst o T8 W a1 feod 7 2
(A) afTS egH, TERE! % u™
(B) ASTH YR TR, @R & 9™
(C) wifertem HfeY, faamem % a™
(D) TRHUT TH UM % S, AT & 9"
87. Which of the following places of interest has been recently included in UNESCO World Heritage
Site List ?
(A) Charaideo Moidams (B) Batadrava Than
(C) Poa Mecca (D) Sonai Rupai Wildlife Sanctuary
87. =S (@HG! SFITT T ITORIT 2BERR e @fexy (waq wifeie Soee F41 (2022
(A) BIIZCTS G (B) 5wl A
Q) Rt S (D)  GTIeliE SoA12 Il Sre=e]
87. fsfife s gmelm M (@G s T iy Aoz e oifeen Tese 2 ?
(A) BRRME N2 (B) 5@l AW
(C) o = (D)  CTIIZ 12 Il Sree)
87. e M e, fafEmR Rl FRgaik swe (UNESCO) g1 SRl ST WiRelgsTe e
REIREEESIEICIR ERIRAS |
(A) =IEed HIH (B) gl °H
(C) 9'd HeRhl (D) W'9TE &R R 7 g
87. Tym=fafed o @ fora seRdo Toret =l g1e1 81 | IA%R! (UNESCO) foree foaurd oret §=ht o wnfiat foran e

g2
(A) =SS HiESH (B) Sl oA
(C) e HeRAl (D) 9FE &R I=ASIT STHIRTT
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88. Origami is the art of paper folding that originated in :

(A) China (B) Korea (C) Japan (D) Cambodia
88. TlIE Ol T e wRllfE Tesife Ribl omre tafee ¢

(A) BN (B) il (C) @il (D) cAIfew
88. SNl =1 4l st oiw st A1w Tesife 2 ¢

(A) bW (B) @I (C) s (D) caifra
88. I B Iy T faetre e sfgen 1w SfEreE |

(A) == (B) hiLal (C) SuH (D) hFa 'Tea
88. NI Hie =t hetl STEIHT o0t Icafa o <o o g8 off -

(A) == (B) =i (C) A (D) shelfea
89. Sharp pointed teeth inside human mouth are called :

(A) Molars (B) Canines (C) Incisors (D) Premolars
89. 2 Y fowse 4l (BIHl, (Gl nie@ (et 22 ¢

(A) (T Mie (B) (=FW© (C) JITwlre (D)  “@0oT< wfe
89. (I (A (TOCH LI 37 U Ie7 23 2

(A) (o[ wfe (B) (=« Wf® (C) FTEInre (D) SatoRe v
89. HMfaf gmiasTd Y™ SHR FUEE! 71 I 2

(A) BETHIEIEE (B) HITIE™ (C) ©= BAE (D) T gri Bt
89. FIH % Hg % 37X T[T Ticil 1 e S ¢ -

(A) o0 (B) Y& (C) s (D) 3 <evieh
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90.

August Kranti with “Karenge Ya Marenge” slogan was related to which movement for India’s
independence ?

(A) Non Cooperation Movement (B) Quit India Movement

(C) Khilafat Movement (D) The 1857 Sepoy Mutiney
90. “FCEA T TR GENIEE W92 FIE STed FITTOR Z(F T4 (FICO! ST S TI % 2
(A) PRGN SCHIET (B) OO Oftal W
(C) TRsrse SN (D) 1857 51 oIS Remig
90. SM9P% TR “FCHCE T @ (FIAG SHoF TSR (I SCHIER AL 7~5ifFe fozt 2
(A)  SPTRCE SCWIeT (B) ©® QT AW
(C) fRefwe SNwEw (D) 1857 @31 PR Remiz
90. ‘' HIEIH TSTeeT M’ TR 71 STATE fomararen o SHEaRARS 9Hl g ?
(A) ‘é‘-hl\YIIQI‘éIrq AHIAAR A (B) HRA AT HHTTHRAT™
(C) Tarra FHEERA™ (D) 1857 "rEeE fHurs fsrmerm
90. ‘T A W' AN F WY ST Fhifd WRA ! Tazdl & fau fhg oTider § Faifea of ?
(A) STERIN SR (B) HRd Bl S
(C) Taamwa stiger (D) 1857 =1 fourdt fosie
91. What is the name of the statue placed near Sardar Sarovar Dam in Gujarat ?
(A) Statue of Liberty (B) Shakti Vajra
(C) Statue of Unity (D) Shanti Stambh
91. TG VN IR AFI N7 Blod 1 e fSBR 7w F 2
(A) @y R forife (B) =fe3g
(C) (B ORI T (D) *ifE %
91. TR T AR 0 Fcz e 7 1 F 2
(A) o5 =i feraifs (B) *fe3g
(C) IR oI T (D) =&z
91. TERMAM TRER W 'R AKI WfTe @i ™ @t g1 11 ?
(A) W A% faamet (B) wIfeRi 9
(©) Vg o1 B (D) s Ty
91. TR H TSR TS =ie & I L1fd FfqdT 1 o= - © 2
(A) V= 3w faadt (B) If® o
(C) = if® e (D) iifd &4
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92. Which of the following countries is NOT a permanent member of the United Nations Security

Council ?
(A) France (B) China
(C) India (D) United States of America
92. fxfEfds @ ol ATRIT Haterat “ifxawg B o w=w ¢
(A) &™ (B) B
(©) ©mFw (D) I I
92. HA @ it Tifewkcaa sl sifdaoa =i e 7 2
(A) @ (B) O
(©) e (D) N Jo=1g
92. TIRATE BHIT oel BTG TS BT LW SRS TH TS 7T ?
(A) HrE (B) =
(©) wrd (D) AHERT ST BT
92. frefafad # ¥ &F 91 I3 WY T Y& qRuS 1 Rl a8 T8 © 2
(A) wE (B)
(C) wd (D) HIH T R

93. Which sport is the Davis Cup played for ?
(A) Badminton (B) Table Tennis (€) Lawn Tennis (D) Cricket

93. (GfeR Fiol (FNRY (4= A (I 27 2

(A)  EORITT (B) (B3 GOz (©) = Bfig (D) f&Ts
93. (N FITR (TR FIof (HeT =7 2

(A) TreRT (B) (BRel (BT (C) =W @R (D) feco
93. <fad HIE! T AR LG et ?

(A) wefed (B) daa <9 (C) =+ = (D) Toee
93. <faw #v forg @ & fore @er s € 2

(A) defieq (B) <o <9 (C) @M f= (D) ToRee
94. What is the currency of Indonesia ?

(A) Ringgit (B) Dinar (C) Rupiah (D) Shilling
94. YR Y@ 1 [ 2

(A) G (B) fw=im (C) ol (D) fRifere
94, I[WEHRR 4 F 2

(A) fafre (B) == (C) =nfsfxl (D) fRifere
94. T \fEEfT @=iEn /2

(A) ffm (B) fem (C) ¥ (D) fefef
94, ST T HET AT E ?

(A) R (B) TR (C) wfwn (D) et
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95. In which Continent is the Amazonian Rain Forest found ?
(A) Europe (B) North America (C) Africa (D) South America

95. NG JHe (FIF TS SRFS 2
(A) @A (B) TeWmRA  (C) e (D) wfEFel SCwfE

95. NG JRIN (I MR SRFS 2
(A) TT@E (B) TeWmRA (C) Wi (D) Wl S

95. IS TG 3 T el TRIATTS ?
(A) T (B) W - smAfem  (C) 3TftReh (D) W - STHREH

95. 3TN W o o e HeTgT H €2
(A) 9 (B) UG HR@  (C) ST (D) =feror SRR

96. Lohit walks from Black to Pink, which are 9 meters apart. At Pink, he takes a right turn and walks
4 meters to Blue. He takes another right turn and walks a distance of 9 meters to Red. At Red he
takes a left turn and walks 2 meters. How far is Lohit away from Black ?
(A) 4 meters (B) 13 meters (C) 22 meters (D) 6 meters

96. (Mfrs @F T 2[1 9 HR rage 4 ol Ftet (Aeriff a7 | 215 e (o8 GHRIts 903 oIi%: 4 So=
ISR g ZW #1091 | 23S (08 771 FIIEICS Y@ o 9 Mo (T ([ B4 2| ({C BNe (08
AERCT I % 2 WO (NG Fw | (fRe Gfod @ gee =1 [l rags 06 2
(A) 4 TGR (B) 13 o™ (C) 22 [ER (D) 6 fGl

96. (Nf2s @F (AT R e 205, Awa g 9 G | P10 (1 i fcss i< (7w @3k 4 N6 (206 3@ 5
AR | (1 SR TS GG (T3 43 9 G 779 (X6 (0T CoMM=R | (T8 (0 (7 A (G (717 4% 2 {oie
T | (RS GF (AT T 0 R ?
(A) 4R (B) 13 fio: (C) 22 o= (D) 6 foR

96. aifed sethfTwR fiehfam 9 faer emem | fushra fort strrerfl ffdam 4 faer ememA™ sqema @ | fo=n
eI ST It 9 fHer Yefaw aremen | Yem foren srfafel fiTfdam 2 frer e | wifed! s
Y TS HeE! ?
(A) 4 TR (B) 13 fAer (C) 22 fer (D) 6 fHer

96. ifed =i ¥ sk 7ok =reran € S 9 Wit o1 g W | fis W o8 a1d qot § ¥R =] T SR 4 Hiex =er g |

T8 T IR TR T G § 7R ¥ q 9 Hiet &t T 79 el § 1 38 W 98 ot 7R et € 31 2 Hiex e
T | Sifed =t & fopat WE?

(A) 41X (B) 13 HiX (C) 22 #HrX (D) 6 HIX
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97. What would be the digit exactly in the middle when 65749 is subtracted from twice of itself ?
A) 9 (B) 2 © 7 (D) 8
97. M 65749 FRATCERE AR Tael AR 271 Kol 51 27, (S0 FEAFEAGI 0 FiiIere 24 SiRFeh! 527 2
(A) 9 B 2 © 7 (D) 8
97. 65749 (& OF fawd (2 Rais Fae B MR o= 1 23 2
(A) 9 (B) 2 © 7 (D) 8
97. 65749 @I fafT TSR @ &1 HAA™ ST TSR SIS o1 2
(A) 9 B) 2 © 7 (D) 8
97. € 65749 ! IFeh I | H {1 S 1 GROMH o Sk oid H -1 37k A1 2
(A) 9 (B) 2 © 7 (D) 8
98. What mathematical signs can be inserted respectively to get a correct equation (calculated left to
right ignoring BODMAS) ?
6513017 [115[]5 =15
(A) -, +/ - (B) -, X, +/ -
(C) +/ -, X, = (D) +/ -, =, =
98. (IS =T #[ it it 9leil ¥ 9= BODMAS st siiessiel @) 65 ] 30[] 7 [] 15[ ] 5 =159
OF @7 AN 2R FNER NfAfsT HF 7T Swee Fa if 2
(A) -, +/ - (B) -, X, +/ -
< +, -, %x,+ D) +, +, —, —
98. b APF M (ot ! sifdfes Dzwfl v AfREte Fa @S It (BODMAS T2l 7 I
(AT TIC le 1 2CR) 2
6513017 [115[]5 =15
(A) -, +/ - (B) -, X, +/ -
< +, -, %X, + D) +,+, —, -
98. TS FHEMYSTR THRRE! SHRE R FHHEATEE! H41 SFH (BODMAS SH@! HafqaH, Arfafwm=
SR fedTe ErerHaire) ?
6513017 [115[]5 =15
(A) -, +/ - (B) -, X, +/ -
< +, -, %X, + D) +,+, —, -
98. T FHHIUT (BODMAS 1 3Te@l i U 91U & ¢ TUAT) e i o foIT shet: e ¥ Tt fawg

il STl ST Hehd © 2

650130 ] 7 []15[]5=15
(A —, =, +, - B -, x,+, -
<) +, -, %, = (D) +, =+, —, —
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99. Identify the odd pair.

(A) Pacific : Water (B) Himalaya : Mountain

(©) Vesuvius : Volcano (D) Mississippi : River
99. W&l (AR oS T |

(A) 2T ¢ T (B) feaew ¢ #FS

(C) Rl ¢ wicarifal (D) ffefefs ¢ @t
99. oM (eeil Hiers ww |

(A) =g ¢ o7& (B) feew ¢ 4%

Q) CofeaM ¢ SRR (D) fififfst ¢ Tt
99. SIS SRrEl AT -

(A) ufafrs .3 (B) Teurer™ : e

(C) Ighram : ord g (D) fafafafy . &
99. SIS SISl &l TgdM |

(A) e : A (B) fewrer@ : weld

(C) =gford : ST El (D) fufafafy . =
100. Which of the following words is correctly spelt ?

(A) Jeography (B) Jeometry (C) Jeopardy (D) Jeology
100. RS (G =< AN Y@ 741 @ 2

(A) Jeography (B) Jeometry (C) Jeopardy (D) Jeology
100. T (P A (ox A1 A3 2

(A) Jeography (B) Jeometry (C) Jeopardy (D) Jeology
100. TR s/& e ST R ?

(A) Jeography (B) Jeometry (C) Jeopardy (D) Jeology
100. TfeifEd @ @ =M W1 wsg Wel aa- o foran w e

(A) Jeography (B) Jeometry (C) Jeopardy (D) Jeology
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101.

101.

101.

101.

101.

Soniya drives four km towards the west from her home, where she crosses a bridge. She takes a
left turn and the drives for six kmes, till she arrives at the town center. Here she takes left again to
drive for another twelve kms to reach her office. If she decides to take a shortcut on bicycle, what
would be the shortest possible distance between her home and office ?

(A) 18 km (B) 12 km (©) 9km (D) 10 km

(R 7] o171 #if*5a w=itat Bifs 6.5 9T BeiE @ee 7ok #iie 23 | ol A1S e 9 = [6.fl. =nis[if Giew
(GBS GoifFe 23 | 2T ©iF 77 A feel IR i A1 6.5, 2181 5112 wigq ifes si1tal | 3 oI 53 A1Gea
BIEeTS RN P& 717, (O0F ©I29 1 S SIRFHS AE Paos B9 7y Bl 232

(A) 18 M. (B) 12 .fL. () 9= (D) 10 =hL

T ©iF AT (AT “if6w W 5 7.5, TS 5oty @IE G 90 ET Sifeems F@ | @1 AW WE (e
TR @3 = .81, 1T BT 1oitaa (e (<71l | QI (1 ST <iiTvss e il 6.0, A il sifzeean
TR | (7 T RERE 7T A AR PIals @17, oz ©F AT @R SRFER 1y Jos 11y Fo
@ 2

A) 18 fBf. (B) 12 &L (C) 9= (D) 10 B

giarn maft 7 e Wt o foe faer MR wrerEa- oret S fo gren 19 aRear | fa sttty
fafdam g fhat 'fHer oM 2 9=R i | fodl Jama e swfafy fifdam f59 fore 'faer MRt
HIATIAA et Hrergferama died | e fordl Arsehal remaqT g’ ammsi oret, faft 7' e wegfaf
o g S o9 ?

(A) 18 fw.fA. (B) 12 fe.fH. (C) 9 fwfa. (D) 10 fw.f.

T 799 =R 9 ufem st SR AR fwt M Tt €, el 9 U Yol UR ! § | 98 o1 SR et § SR
I YT Ig= T B FoRTt T TS Tt § | ¥R a7 o9 wrEferd 7 Ugen o fae R & ord gedt §
3R aIRE TRt o TS T § | Afe 9% gEfhe W widwe o #1 i ot §, @ 39 TR 3R e &
e A Hee g R gel ?

(A) 18 km (B) 12 km (C) 9km (D) 10 km

102.

102.

102.

102.

Which of the following is correct when calculated from left to right, ignoring BODMAS, if the rule
says, 5+2=3,5-2=7,10+2=20 and 10x2=5 ?

(A) 9x3-1+2=18 (B) 5+1+4-3=19

(C) 6x2-1+2=12 (D) 7+2+4-2=14

BODMAS fazrst snialel & aft 542=3,5-2=7, 10+2=20 S 10 x 2="5 I 7(I 7% SepRe T4t 27,
COCT ST 291 HIfiteT siei Sfcet FMRRie e @) Sfe w2

(A) 9x3-1+2=18 (B) 5+1+4-3=19

(C) 6x2-1+2=12 (D) 7+2+4-2=14

It @F M 5+2=3,5-2=7,10+2=20 €32 10 X 2=5 T, ©(& BODMAS T[5! 3¢ I (AT T
el T AN A1 (PG 9% 2

(A) 9x3-1+2=18 (B) 5+1+4-3=19

(C) 6x2-1+2=12 (D) 7+2+4-2=14

AT AN 542=3,5-2=7, 10+2=20 3T 10 x 2=5, 3T BODMAS 1 Fm@t Fafg"r smfafiwe
NI fedTe WS TR Serar o ?

(A) 9x3-1+2=18 (B) 5+1+4-3=19

(C) 6x2-1+2=12 (D) 7+2+4-2=14
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102. afg f=m 5+42=3,5-2=7,10+2=20 3R 10x2=>5 Fz&dl ¥, @ BODMAS &l 3@l Fd gL, a6 4§
T Y 3R AT 1 R Fefafed § 9 we-o 98 g 2
(A) 9x3-1+2=18 (B) 5+1+4-3=19
(C) 6x2-1+2=12 (D) 7+2+4-2=14

103. If 9 < x2 < 25, then the correct value/values of x is/are :

(A) 3,4,5 (B) 4,5 (C) 3,4 (D) 4

103. AW 9 < x2< 25, (OCT x § 97 A / APTZ (22 —
(A) 3,4,5 (B) 4,5 (C) 3,4 (D) 4

103. I 9 < x2< 25 T, O  x 99 ©F W TS ¢
(A) 3,4,5 (B) 4,5 (C) 3,4 (D) 4

103. Sf€9 < x2 < 25 S, 3Tl x 1 9R A / AHGR
(A) 3,4,5 (B) 4,5 Q) 3,4 (D) 4

103. AfC9<x2<25 A x F IS A © :
(A) 3,4,5 (B) 4,5 (C) 3,4 (D) 4

104. How many squares can be identified in the figure ?

(A) 21 (B) 18 () 19 (D) 26

104. o< HAGr® TG 97T (o1 T 2

(A) 21 (B) 18 (©) 19 (D) 26
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104.

ava g a5 35l fHize w1 71 ¢

(A) 21 (B) 18 <© 19 (D) 26
104. SEMREE HF 99 a7 A |4 2

(A) 21 (B) 18 <© 19 (D) 26
104. T3 T3 fom # fohe ol we=m 1 &hd € ?

(A) 21 (B) 18 <© 19 (D) 26
105. Identity the word with no pair of consecutive letters placed together.

(A) Alphabet (B) Partner (C) Rightness (D) Station
105. (G GEAI T 3 Graeteal 72451 =51 e 5 |

(A) Alphabet (B) Partner (C) Rightness (D) Station
105. (I SISO G T A=A SrfEs il == fizre e |

(A) Alphabet (B) Partner (©) Rightness (D) Station
105. TR 91el HigTerel ST Wi 21 gia w9 ?

(A) Alphabet (B) Partner (C) Rightness (D) Station
105. 9 T i JeaH i TSEH AR &R 1 s el Teh 919 7 1@ T 7 |

(A) Alphabet (B) Partner (©) Rightness (D) Station
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106.

106.

106.

106.

106.

Which of the following is NOT of the same set ?
(A) Cash Payment (B) Mobile Banking
(C) Debit Card (D) Net Banking

R T2 @R 90 (36T TRYS T 2

(A) wom AT (B) RIS R
Q) ©RGIE (D) & @R
0 Trafie @b @2 (oidia w2

(A) I BRP 2wl (B) I pigia
Q) EReIe (D) I iR
TR o= TW Yo TET ?

(A) e T i BFE (B) WaEA Sifeh
(C) <foe ar (D) e d&fs
Frefafed 9 9 [ 1 T & 998 & T8l © ?

(A) THS T (B) HIsTEeA sifehT
) <fae = (D) e S

107.

107.

107.

107.

107.

Of the following words, which would be the last to appear in a standard English dictionary ?
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE

T T TG SfodTe WRARS *FoTea (@t *=< Fheiwse A 2
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE

Il =RrafEr e @Hb 9t Sl 3Es sifedieg G anffe 3@ 2
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE

TMETTe BRI HREhR TSI, 6 diarel AT 3Usi Hiard fogate e I ?
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE

Frefafad vl | 9, I SIS IsIHe § STHETe 23T w5e HF 9T 8 ?
(A) CONTINENT (B) CONSTANT (C) CONSIDER (D) CONTINUE
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108.

108.

108.

108.

108.

What would be the middlemost digit in the smallest number that can be made using all the digits
of 8936217 ?

(A) 3 (B) 6 © 7 (D) 9

8936217 FRAG SKFCH2H! AL T 910 T 9111 PoTow TG 3F FHIers ! o 2ifea 2
(A) 3 (B) 6 © 7 (D) 9

8936217 €3 FTIB SE I I 2eT Fuws WAR 5% q1r o= F 73 2
(A) 3 (B) 6 © 7 (D) 9

8936217 1 TE AARTHIRRE! THM THI HE SAfRgs efae STARSHI ok RTe AR AH{STHIT A1 2
(A) 3 (B) 6 < 7 (D) 9

8936217 o Gt 37ehi hl STANT hich IS ST el ol Bt H&AT hl HEAAH 3k 91 BT 2
(A) 3 (B) 6 < 7 D) 9

109.

109.

109.

109.

109.

How many milligrams make one kilogram ?

(A) 10 (B) 103 (C) 104 (D) 10°
@ fFraeEe o e e ae
(A) 10 (B) 103 (C) 104 (D) 10°

Fe e @ FeEiam =3 2

(A) 10 (B) 103 (C) 10* (D) 10°
o Thfermmsi & foa o s ?

(A) 10 (B) 103 (C) 104 (D) 10°
e faefiom & w foreimg s a1 €2

(A) 10 (B) 103 (C) 104 (D) 10°
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110.

110.

110.

110.

110.

What would be the Arabic numeral for MMCDXLVII ?

(A) 2,567 (B)

MMCDXLVII F I3 ST 7! 529 2

(A) 2,567 (B)

MMCDXLVII &3 S 7124 7 23 2

(A) 2,567 (B)

MMCDXLVII 1 3IRd 3SR |1 ST 2

(A) 2,567 (B)

MMCDXLVII % fau Rt 3fe a1 2rm ?

(A) 2,567 (B)

(C) 2,477 (D) 2,447
(C) 2,477 (D) 2,447
(C) 2,477 (D) 2,447
(C) 2,477 (D) 2,447
(C) 2,477 (D) 2,447

111.

Philately is related to :

(A) collection of match box

collection of postage stamps

(C) collection of currency notes (D) collection of fountain pens
111. TFeTichler Jleret R aivs ¢

(A) TAGeZ PG AREZ (B) T 536 Weag

Q) TR G ReF (D) ICCDRA (oI FEZ
111. RFAGRR A 7S ¢

(A)  TRIMEIE @7 A9 A<a (B) ©Is BfRFs g Ma

(C) 9IS @l AT (D)  I=el F&T (FIGLD (21) A2
111. Ten 'qeftan Al FrHmT 11 ?

(A) T3 SR LA (B) <k fehe gymA™

(C) T foae gymT= (D) R~ I (W) YA
111. TReree foow gefud ©

(A) wi=" ot fesslt @1 907 (B) T fedel 1 WIR

(C) T AR 1 9UT (D) RIS U T WIR
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112. Statements : I.  Non-metro cities in the country have been suffering due to load shedding
for quite some time.
II.  If the Government is not able to overcome the power crisis, load shedding
will be extended even to the metro cities.
Which of the following conclusions can be drawn ?
(A) Both Statement I and Statement II are effects of independent causes.
(B) Both Statement I and Statement II are effects of some common cause.
(C) Statement I is the cause and Statement II is its effect.
(D) Statement II is the cause and Statement I is its effect.

112. &2 L iR G REN 533 g (1T (xifes A1 ee® s #ia1 38 gl =iz |
IL W 5SIcs Rgges 756 79 R (RIS, (9% (1G] b2 R0E T (iR e
79|
fFwferie (G Faige Goere 29 #{if 2
(A) ¥f& [ 9% T & 11 7R F9F FFeR AE (@[ doK |
(B) Tf& I'®=: Tf & 11 1EAIG! (I TLIRS R PO A0 (2 AN |
Q) & I 2z Fwe o= T 11 (202 2 2OR |
(D) fe II Tzt T199 wIi%: Tfe 1 (202 3] 4ol |

112. (e s 1 @ gve 032 [igge 2513 @3 & (oo S9-G1 *2a et galz |
I &SR e 736 S Tors 71+ (NG *ze e gt wige 2@ |
e TS (iR GopreRibee (TR TR 2
(A) Tox fFfe1 @z [ 11 TR TR derq |
(B) e [Jfe1 gk RIS 11 9<hg et 2o |
(C) TIfe1 = wirel 3z /IO 11 == ifFeli |
(D) TSI =1 FRel =g 7T 1 2o ~ifeiis |

112. foEfomR: 1. FriRE 7 AFRER S S5 Hifsed TR (Load Shedding) 7 ST Tamaf st
G HREI ST |
I S TEr Hifserd eI STiEreral Jigl srmeet Hifsetd TRATAT ARTRATRR FaH T |
TRTAR oFel STeeRIeRa! ATSaA! ST -
(A) Tagfor 1 & faefar 1, @ 331 SeHf e
(B) fagfor 1 5 fagfer 11, Ja <'ar SeFf Ssd
() faafar 1 o1 S o fagfa o st fafy SeA
(D) fagfr 11 311 SR &R fargfer 1 311 fafy s

112. ®eM: L 39 % IR-H IR A 99T § i IfET it guen | S w© ¥
II.  3TR SRR fostell Gehe ¥ 3o T&l I o1 e AT 1 St 0l Il e off sg S |
frafafaa & @ == a1 frepd freen s wehar § 2
(A) YT SRHYA I SHI T HRU o J9E © |
(B) YT I RHYT I ST fohell AT FHRU F THE 2 |
(C) HITI FRU T 3R HY 11 THH TS T |
(D) YT 11 FRU T SRR [ SHHI T4 T |
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113. Which of the four given sequences would be meaningful for the words ?

1. House 2. Street 3. Room 4. Town 5. District
(A) 3,1,2,4,5 (B) 541,32
©) 31,425 (D) 5,4,31,2

113. 1. R 2. W 3. @ 4.  TR_ 5. foe e
G2 WL A AT TP (FCH] T T2 2T ?
(A) 3,1,2,4,5 (B) 541,32
©) 31,425 (D) 5,4,31,2

113. 27 5D SR N (@A SR G w2l 27 2

1. e 2. AW 3. % 4. =] 5. (el
(A) 3,1,2,4,5 (B) 541,32
(C) 3,1,4,2,5 (D) 5,4,3,1,2

113. TR o ST IR BT HeleahrE! Sifer M1  rersTie ?
1. 2. @™ 3. @'\ 4. AMR 5. fmen
(A) 3,1,2,4,5 (B) 541,32
(C) 3,1,4,2,5 (D) 5,4,3,1,2

113. S 73 =R SThH § ¥ -1 37 veal o folu |iefeh & 2
1. =X 2. HSH 3. &EQ 4. TR 5. fSen
(A) 3,1,2,4,5 (B) 541,32
(C) 3,1,4,2,5 (D) 5,4,3,1,2

114. Identify the word which cannot be made from CARBOHYDRATE.
(A) AHEAD (B) RETRO (C©) YACHT (D) HYPER

114. CARBOHYDRATE T I3} 91234 SR 1R 775! Heie 355 |
(A) AHEAD (B) RETRO (C) YACHT (D) HYPER

114. (I %776 CARBOHYDRATE (2 (o] 1 T =1 ©f ffze e |

(A) AHEAD (B) RETRO (C) YACHT (D) HYPER
114. TEAM 9 GEE@ CARBOHYDRATE fwe fegamt g ?
(A) AHEAD (B) RETRO (C) YACHT (D) HYPER

114. 39 ¥ Hl 989M, ST CARBOHYDRATE ¥ F&l ST ST Hehal |
(A) AHEAD (B) RETRO (C) YACHT (D) HYPER
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115. Total age of three friends - John, Johnny and Janardhan, whose birthday is on same day - is 84
years. What was their total age four years ago ?
(A) 72 years (B) 80 years (C) 78 years (D) 76 years
115. @30l Mere o @l fof agi— &, &' i Smives I2070 9 (191e 84 927 | BIfR I 7[0St
I S 9 e onfesT 2
(A) 723%1 (B) 803=s (C) 7831 (D) 763=S
115. TS I3 - O, Tl 3R Sllvel, TR S @63 s - (G 9297 84 = | 517 T B9l ©ITE (G I3 F°©
ey 2
(A) 723 (B) 803 (C) 783 (D) 76T
115. UM AFTRRMA - S, 5, SARYE, STEf SImaH SEEaEE) - S5ist 9 84 FER | st &
R SrEreT <19 oEEH ?
(A) 72 9ER (B) 80 dER (C) 78 9ER (D) 76 9ER
115. O i - S, ST 3R S, fSet S=afes w2 faT § - 1 $el 30 84 99 ¥ 1 ¥R 99 gl A Fed
39 1 ot ?
(A) 7294 (B) 80 TH (C) 78 ad (D) 76 I8
116. Identify the incorrect Roman number.
(A) Thirty six : XXXVI (B) Ninety nine : XCIX
(C) Seventy four : DXXIV (D) Nine hundred : CM
116. S%% (S RGBS T |
(A) = ¢ XXXVI (B) MR 2 XCIX
(C) (bPTes ¢ DXXIV (D) T ¢CM
116. Se% G i fers e |
(A) =& XXXVI (B) fe=iwE : XCIX
(C) paed : DXXIV (D) e :CM
116. 7RIS 4T WM sl fam ?
(A) g™ 5 & XXXVI (B) TN :XCIX
(©) fafas:DXxxiv (D) SHT':CM
116. TTed UHT H&A 989 |
(A) BUE : XXXVI (B) T=ma : XCIX
(C) =E® : DXXIV (D) s d:CM
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117. What would replace ?? in the triangle set ?

A

(A) 9 (B) 11 (C) 10 (D) 12

117. fage #<2feGiR 2? 2o & I21) AR 2

A

(A) 9 (B) 11 (C) 10 (D) 12

117. fage wafeofba 22 i ¢ afozifore o ¢

A

(A) 9 (B) 11 (C) 10 (D) 12
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117.

117.

ST eR1a 2 2 W ATl g ?

(4) (8) (5)
@A@, @A@ W
A) 9 (B) 11 Q) 10

e M3 oy W § 27 1 T R o ?

(4) (8) (5)
@A® @A@ NN
A 9 (B) 11 (C) 10

(D) 12

118.

118.

118.

118.

118.

If ROCKET is written as TQEMGYV, then what would be the last letter when RAINBOW is written
by the same code ?

(A) Z B) Y © A (D) U

I ROCKET ¥ TQEMGYV 2517 $'C 341 2, (9% AH6! 88 RAINBOW fifRitet Z301 Wit 2¢((51 i
73 ?
(A) Z B) Y © A D) U

gt ROCKET (& TQEMGV AR (@14l T, OF# G2 FFS 71 RAINBOW (ST Z(& (¥ SR B
o ?

(A) Z B Y < A D) U
e ROCKET @ TQEMGV ot SR, 31eaT o TE Fesii RAINBOW foReat Siaien gi@ist |1 S ?
(A) Z B Y <€ A (D) U

Ffe ROCKET & TQEMGV & &9 H forar Sl €, a1 SHT s g1 RAINBOW o1 fereq W Afaw e7er o
BT ?
A) Z B Y © A D) U
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119. If the code for WATER is 67 and for DRINK is 56, then the code for RIVER is :

(A) 48 (B) 98 () 72 (D) 35
119. I WATER F 3Itd F'TH47 67 W< DRINK F AE T 72 56 =7, (0% RIVER F AE 6 7R (X2 ¢

(A) 48 (B) 98 () 72 (D) 35
119. M WATER @3 Telj GO 27 67 @3 DRINK @3 &) 27 56, ©1%0e1 RIVER 3 AHS T(J ¢

(A) 48 (B) 98 () 72 (D) 35
119. WATER 9 %21 67, DRINK =1 56, RIVER 1 &e1 -

(A) 48 (B) 98 () 72 (D) 35
119. afe WATER & fet i€ 67 & 3R DRINK % foTu 56 ®, oI RIVER & foiq =re © :

(A) 48 (B) 98 () 72 (D) 35
120. Which two terms would come next in the series :

24, 26, 35, 63, 48, 124, 63, 215, ?, ?

(A) 76, 430 (B) 83, 310 (C) 99, 511 (D) 80, 342
120. 24, 26, 35, 63, 48, 124, 63, 215, ?, ? *RIFANGIN 27TS! TS (e 5! 32 AR 2

(A) 76, 430 (B) 83, 310 (C) 99, 511 (D) 80, 342
120. @M€ LTS 2R (e 46 R SR 2

24, 26, 35, 63, 48, 124, 63, 215, ?, ?

(A) 76, 430 (B) 83, 310 (C) 99, 511 (D) 80, 342
120. TREM 9 HiF AFGAT S gea 319 I 24, 26, 35, 63, 48, 124, 63, 215, 2, ?

(A) 76, 430 (B) 83, 310 (C) 99, 511 (D) 80, 342
120. S 24, 26, 35, 63, 48, 124, 63, 215, 2, ? | 3Tl A | < Ug A ?

(A) 76, 430 (B) 83, 310 (C) 99, 511 (D) 80, 342
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121. What should be the missing number ?

69|15
8 |12 ?
416 (10
(A) 18 (B) 16 (C) 24 (D) 20
121. SRS AAIH! 6 27 afea e

69|15
8 |12 ?
416 (10
(A) 18 (B) 16 (C) 24 (D) 20
121. SEifFe il 5 26w Uve ¢

69|15
8 |12 ?
416110
(A) 18 (B) 16 (C) 24 (D) 20
121. <1 QU AN 3778 QA ST ?

69|15
8 (12] 7?

121. 3Tl S 1 BT AfeT ?

(A) 18 (B) 16 (C) 24 (D) 20

122. Identify the set that does NOT follow the common rule as others.

(A) 2:8:64 (B) 4:64:216 (C) 6:216:512 (D) 5:125:345
122, ST SC2s [ 627 SRpieel w4t [Rsiih! foeie 35 |

(A) 2:8:64 (B) 4:64:216 (C) 6:216:512 (D) 5:125:345
122, SFICH SICO! @2 Ael 27 Sl 7 a1 1:2feit bfzre a0 |

(A) 2:8:64 (B) 4:64:216 (C) 6:216:512 (D) 5:125:345
122. TREM & YU TIAHR A—C S 'S 59 Hi-=aT ?

(A) 2:8:64 (B) 4:64:216 (C) 6:216:512 (D) 5:125:345
122. 39 ¥ H 89 L S TEHRI i e =T a9 1 q1e & hia &

(A) 2:8:64 (B) 4:64:216 (C) 6:216:512 (D) 5:125:345
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123. Identify the next set in the series :
L3P, R4W, Y5E, G6N, ?
(A) O7V (B) R7W C) Q7w (D) P7X

123. L3P, R4W, Y5E, G6N *R<4eN0R #15ae ! 7k2fecs! foriie 355 |
(A) O7V (B) R7W C) Q7W (D) P7X

123. Ve FN6d 2KTe] 72 Hize wew |
L3P, R4W, Y5E, G6N, ?
(A) O7V (B) R7W (C) Q7W (D) P7X

123. L3P, R4W, Y5E, G6N HIEmE Sere A 9ol -
(A) O7V (B) R7W (C) Q7W (D) P7X

123. sJ@al L3P, R4W, Y5E, G6N, 2, H 3TTel ¥ ol T84 |
(A) O7V (B) R7W (C) Q7/W (D) P7X

124. If A=26, B=25, and so on till Z=1, then what would be the sum of STAR ?
(A) 32 (B) 67 (©) 50 (D) 55

124. T A =26, B=25, W% G S5-I (o Z=1 T, (SCT STAR I I (AN5izFe Falley 292
(A) 32 (B) 67 (C) 50 (D) 55

124. WM A =26, B=25, 932 O3l U9 Z=1 T, O&@ STAR 3 (5] F© Z(J ?
(A) 32 (B) 67 (C) 50 (D) 55

124. Sfc A=26, B=25 9Mfc Z =1 a9 Srems1, 37ee STAR T SSerm&en s& S ?
(A) 32 (B) 67 ©) 50 (D) 55

124. afe A=26, B=25, 3R 3 Z =1 T TH TSR &, d STAR T 1T 1 BAT 2
(A) 32 (B) 67 (C) 50 (D) 55
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125.

125.

125.

125.

125.

Ramya’s mother is the only daughter of Prachi’s father. How is Prachi’s husband related to Ramya ?
(A) Father (B) Brother (C) Paternal uncle (D) Grandfather

TR MG AR e GF=1g SRIST | BT FE TR GICS (0 TIRE TAFS 2
(A) fg (B) ©I9 © = (D) ==
TR S A5 IRE GG (0 | T A0 G FI T0:F F 2

(&) forer (B) ©R (C) w (D) oigm
et fermmn g fawr ame’ fwarsi | g fRamsen =St @1 9l S 2
(A) o (B) foc1/ e ) faa (D) foait

T Y | Y o Ut Bl Sehaldl S | T o ufd 1 TR 9 R HeY § ?
(A) o (B) g (C) == (D) <=

126.

126.

126.

126.

126.

Michael needs to go to university for his test. He started from the East and came to a crossing. The
road to the left ends in a Railway station, straight ahead is the Museum. In which direction is the
university ?

(A) South (B) East (C) West (D) North

M SSTHE A el I aet | (od »R[fiT s aia wieg SR @6l sifefere Toifgs 29|
(DG ANE T ACH! GBI (&0 (BHT® (*13 C20Z; (AT (A Siaita o1°cet 1 feferms ez | frafmera<s
IO oo eRfEe 2

(A) Tl (B) 1 (C) =if*ow (D) T&

NEFEAE OFF 2T Ty RefRpietca AeqR 2@iem 21 G 9-70S (AT Q! 9F F@ GFH G
I | WD AW @ (FAEGHE 1T ZCR, IS AR IV | R (@ e 2

(A) wfE (B) & (C) Afw (D) T=

TIEhell TS &A1 eprarenteare L | foe rswr STEREH HHd dm GSeHTare |iher |
sTrfafeif T Yo Ruere ereeneE, i e RfSEmE e | gerEiatern 99 ferst 2

(A) @Rl (B) WSl (C) W (D) W

3T 3% Te o T Hrgehat st fovafomera S €1 9 qd i a9 TRt 3197 =R | & gol 3IR Ush IR
R TEAT| T AR H Hoh Teh {099 WIH W TATK 2t ¥ 1 ik 3T &l Ggh W A Tsh GUEeE §|
forvaferamer form faon & €2

(A) e (B) W (C) Tfe=mH (D) IW

127.

127.

A six-faced regular die always has the total of dots in opposite faces as 7. Four such dice are
thrown, and the top of them shows 3, 3, 2, 6. What would be the total of the dots in the faces
touching ground ?

(A) 15 (B) 14 <© 21 (D) 17

«F -1 T 77w sieGe Fifmme 9@ K@ 14t gemes it Aice 2fs RierdTe &3z 714ne 19
CAI9=FeT I 7 2| BIfRGT T @R Amiie s wiereare seort iz @ 3, 3, 2, 6 /W Ak ol
S| A @FRoR B R T FifiTze ol i FRUE I @ e 2

(A) 15 (B) 14 <G 21 (D) 17
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127.

127.

127.

{5 fafire R S (=@) 9fo [odTe «jroa Reva q@ierews1 5=t 7 | @3 40 BRiS siiit ool a1 =0
G SR AN 3, 3, 2, 6 R (i | g =i 11 7jto7 Rpefer (b Qisiee F7o 23 2
(A) 15 (B) 14 ) 21 (D) 17

T U@l Tl SeE 3ol HRERRIE o =i SSeEE Seamel 7|1 Hie T TEad! Gadrmare s
HEI6N 3, 3, 2, 6 fef~erdi | MeEf omm SramR ST -
(A) 15 (B) 14 Q) 21 (D) 17

T I€ el Fafaa I # goen faudia wetent | faigasil =61 am 7 21 € 1| T8 =R 9 $heh 9 &, iR S
3 W 3, 3, 2, 6 foig fo@E <1 €1 A a6l A At ekl § feiged %1 o dn @ g 2
(A) 15 (B) 14 Q) 21 (D) 17

128.

128.

128.

128.

Which one of the figures is different from the rest ?

@&utu]
1 2 3 4

(A) 2 (B) 4 © 1 (D) 3
INCE! fo@ ST iee [t 2

3=l

1 2 3 4
(A) 2 (B) 4 © 1 (D) 3

Paulem T @G Selim 2 e 2

3=

3=l
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128.

TRl § | SE-H AW AR 9 F=1 82

P ==l

129.

129.

129.

129.

129.

Which set of letters would fill the gaps in :
MAK, LEL,[ [ [ ], JoN, 1uo
(A) JKL (B) KIN (C©) KIM (D) JLK

MAK, LEL,[_| [ ], JON, IUO 7 & BTz R0 5o =3 774 2
(A) JKL (B) KIN ©) KM (D) JLK

(I 39S MAK, LEL, Djj JON, IUO - ¢ S_f%s RRIED ‘»1‘1( A ¢
(A) JKL (B) KIN (C) KIM (D) JLK

et o BET e A ST 37 || - MAK, LEL,[_| | ], JON, ITUO
(A) JKL (B) KIN ©) KIM (D) JLK

1eri 1 -9 T MAK, LEL,[_[ [ ], JON, IUO # fer zom =1 siam 2
(A) JKL (B) KIN (© KM (D) JLK

130.

130.

Five cadets Charles, Harmit, Om, Piyush and Tapan were asked to pick up one each of the geometric
figures : a circle, a pentagon, a trapezoid, a hexagon and an octagon. They had a condition that
one cannot draw a figure which has a name with same first letter as that person’s name. Om’s
item has exactly one pair of parallel lines. Charles, Piyush and Tapan picked figures with more
sides than a quadrilateral. Piyush as well as Tapan’s figures had lesser sides than Charles’figure.
Who picked up the circle ?

(A) Harmit (B) Charles (©) Piyush (D) Om

#|f5 9111 (86 Charles, Harmit, Om, Piyush 9% Tapan & Circle (3€), Pentagon (?1%¢%7), Trapezoid
((GfIf&IsT), Hexagon (IT@&) BN Octagon (1wen) Sifn eifsfess bauryzs aribics Aifb s1°<tet (@Rl
25| 56 ®e (A (SEEIFS KAG AR SMRe GIee (0SS Al (@il fous XA e sy fifera
@RI ordl 9P (@ Om T 5as 5% GTaIe FGAIET @41 2CF | Charles, Piyush S Tapan I fo@e 25!
IR FYOSA APRATE WfEF | Piyush BN1% Tapan I f5@® Charles 3 5ao(E I3 745 A2 &S |
Circle (3€) ! (I i Coifea e

(A) Harmit (B) Charles (C) Piyush (D) Om
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130. #ifoee 59 RIS (9C86) Charles, Harmit, Om, Piyush @3% Tapan (& spifsifes foa Circle (J©),
Pentagon (71%g%), Trapezoid ((Gfeifer), Hexagon (I¥g%) @3k Octagon (W@W) a3 @ e
GG (02 fee F@ 2rfeel | Siovm @il =16 (redl fest (1 Ol 2ltey 9o G od e #f=eae =1, @
foafba AT 22w e ORIF AR AL SFEHE MR G2 1 Om 3 foafbrs 0% «wrere! swias @2l
TR | Charles, Piyush &R Tapan FOIEH (5 (@1 ARRME e @z Fee | Piyush @3} Tapan €9
f5¢a Charles <& 5@ (2 3 3z {27 | Circle (38) & & wraife ¢
(A) Harmit (B) Charles (C) Piyush (D) Om

130. gren fafee’t FUaETER Charles, Harmit, Om, Piyush Ein Tapan Gl 9w HAw H‘ZIESZIT{S[ HEmR
Circle, Pentagon, Trapezoid, Hexagon 3 Octagon eliiprcieiE G DR IR EEINERHR IR IR
SAME 5 qaa At g G s S SermiEt sTiEan | Omf wrermfEn s/E for st W |
Charles, Piyush 3Tl Tapanf- SerMREeRET STRaTf-2fsif ST ST | Piyush 3R Tapan@l Charlesf
g WAAA | Circle Bl R 9@ @t ?

(A) Harmit (B) Charles (C) Piyush (D) Om

130. Ui el Charles, Harmit, Om, Piyush 3R Tapan ET| Teh Teh SANHAA ?ﬂﬁ?ﬁl =) ?\Fﬁ ED forq et
T : Th g1 (Circle), Th TerehioT (Pentagon), T B G LG (Trapezoid), T WS (Hexagon) IR TH
TR (Octagon) | ITh! I off Rl hI3 Wl TET SMHfd & o Hehell TSGR SUSH 1 T I8 &R 3H
fad o TS A9 & Ul 318 % THH B | Om & TEeH H HAMIR w@rsil &1 faaga T Sier 7|
Charles, Piyush 3R Tapanﬁ =qYS | 31fes Stetl At a@ﬁm A | Piyush iR Tapan 1 SRl
%I YN Charles S 3TH{d & %7 off | g0 =1 fme 31?2
(A) Harmit (B) Charles (C) Piyush (D) Om

131. Statements : All pencils are pens.
All the pens are inks.
Conclusions : 1.  All the pencils are inks.
2. Some inks are pencils.

Z

Only 1 conclusion follows

-

Only 2 conclusion follows
Either conclusion 1 or conclusion 2 follows

A~ A~~~
=@
N— =

Both conclusion 1 and conclusion 2 follow

131. Tfe FFCEANEIS (oAfRe0eT8 o7 |

SRR g B |
fmgs 1. FENER colffeces R
2. g foalel tarm coifees |
(A) @ g1 Toae 27 AR |
(B) &< Pai® 2© oo 29 7 |
(
(

0o

) P& 1 we[) 2 Toare 29 S |
D) 1%0% 2oy Pralere Taaie 23 A |
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131.

131.

131.

(e 31 coifoe oml |

IR TS I |
ToRA S 1. [ (AR I |
2. Rg3ifer (ol |

(A)  SLIE TR 1 SRPRC IR
(B) YT G 2 SR IR
(C) = TooRTA 1 2| THRTR 2 SPRel IR
(D) ToF TPk 1 G3R GoKEIRI 2 SRpel

fagfr: e Afwen SwaEER

TS A TIABR
WEgWE : 1. THal U SifaeRr

2. TEH GIifdwRT AfHahr

(A) 1 SEgRE’ THELE

(B) 2 SEIRE’ THELE
(C) 1T 2 I THEAE
(D) e, 1 3R 2, TAEeE

wmy ;9 el T )
Toff 99 = ¥

frepd ;1. wef e @
2. O WE | )

(A) ae Frehd 1R Tga S |

(B) hae Treepd 2 TR UgH S 2|

(C) = frerd 1 = feerd 2 W ogEn = )

(D) Tremd 1 &R fremd 2 A R 9g=n o 2
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132.

132.

132.

132.

132.

What letters would fill the blanks in
AO_BPP__ _ QDR__ _ SSFTT
(A) OCREQ (B) OCQER (C) OCQRE (D) ORQCE

(! 3¢ SRE AO__BPP____QDR____SSFIT I & ZPIE 93 < 7

(A) OCREQ (B) OCQER (C) OCQRE (D) ORQCE
(@ Feffe1 (@rEH 7 T 2

AO_BPP__ __QDR__ _ SSFTT

(A) OCREQ (B) OCQER (C) OCQRE (D) ORQCE

ool BIEIhISI AG] SRR 3776 WA ST ?

AO__BPP__ _ QDR__ _ SSFTT
(A) OCREQ (B) OCQER (C) OCQRE (D) ORQCE

AO_BPP___ QDR___ SSFTT ¥ fiaa T =l siF 9 18R Wi ?
(A) OCREQ (B) OCQER (C) OCQRE (D) ORQCE

133.

133.

133.

133.

133.

Raj has to catch a train at fifteen minutes past three in the afternoon. What would be the time on
a 24-hours scale ?

(A) 03:15 hours (B) 15:15 hours (C) 13:15 hours (D) 23:15 hours

Iice fJafer [ Aifer cotma [fAt® @ @S 9NET «fa w9l wIc=| 24 - IR TEI#Ie @2 57 F 29 2

(A) 03:15 7] (B) 15:15 ¥<DI (C) 13:15 =<1 (D) 23:15 =<BI

A et fo0! @0er “Ie! NG G €90 2@ 1 24 - T96IF ol 70! 1 S 2
(A) 03:15 9o (B) 15:15 9o (C) 13:15 qo= (D) 23:15 9o

qEsig 3 fegT e faftera T Yermet TREreArT | 2451 Haars 99T S&di S 2

(A) 03:15 F=T (B) 15:15 &= (C) 13:15 == (D) 23:15 S

ST 1 S T ot Ugg THE W 39 Ushe! €124 ¥ & 9 T T8 941 8 2
(A) 03:15 ot (B) 15:15 &1 (C) 13:15 & (D) 23:15 &
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134. Which of the following is different from others ?

(A) Ammeter (B) Perimeter (C) Altimeter (D) Anemometer
134. WRETRS T2 (NG RIS 24T 2

(A) «RoR (B) coARRROR (C) wI=SRGR (D)  «GGTRoR
134. IO @D SN0 (ACE ST 2

(A) SIfRBR (B) ~NRRGR (C) SRLRGR (D) sHifCfGE
134. TR o1 TARRITHE S[&T -

(A) THHR (B) TRfFeR (©) ue=fer (D) TR
134. Frafafed § & sH-w gl @ fim 82

(A) T (B) T (©) e (D) R
135. Which word features less than four different vowels ?

(A) Promotion (B) Sustainable (€) Question (D) Potential
135. (FICH! =197 HIfGIOCE T 7S o fom Faaef wite 2

(A) Promotion (B) Sustainable (€) Question (D) Potential
135. (i *=AGce HEa I3 foF AFIE F99 Wieg 2

(A) Promotion (B) Sustainable (€) Question (D) Potential
135. T o Hiared His - T TR gl § ?

(A) Promotion (B) Sustainable (€) Question (D) Potential
135. e o H =R § 4 e @R a1ar § 2

(A) Promotion (B) Sustainable (€) Question (D) Potential
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